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. " Ansipey fﬁ-‘l"ﬁJ”mm'”g questions (Q. Nos. 1 to 30) by selecting the fﬂrg;i:;ﬂ%g ;; a ap
- T (R, e 1 4 30) % 37 22 % o W |

In Progr

(1) In; A education children are perceived as :
(2 Ocent ang dependent
[;} o pliant and capable of only consu ming knowledge
M, OWledgeable and meaning-makers

Hj ‘Uu]

m‘fﬂl:'ﬂf' and in need of protection
TG ﬁmﬁ?ﬁﬁfafrfahqm'&@mm%?
1) =Wy s ey

(2) Wﬁn'ﬁaaﬁzﬂmﬁmmﬁﬁm
(3)r  FrEeE sy 9 Fl 1591 F0 T
(4) mra"naﬂv_qr_maﬁimmﬁ

2. Feedback the students in g classroom is most effective when :
(1) It Assigns comparative ranks to the students.
(2) It occurs during as well as after the learning activity.
(3) It focuses on what the child cannot do rather than what they can do.
(4) It centres around tests and exams at the end of the vear.

W%mmﬁmmﬁaﬁmﬁmﬁﬁ?ﬁ%aﬁ—
(1) & BE Ft qers Jof vem 51 2
(2 %Hﬁaﬁﬁﬂﬁﬁﬁ%ﬁmﬁﬁqﬁm*ﬂﬁm%r

(3) wmmwm%&am%%ﬁwﬂﬁmmmsﬂ%%aﬁwmm%i
(4) waﬁ#mﬁqﬁmﬁhﬂﬂmm%ﬁa%r

3.  Assertion (A) : During adolescence the pressures to conf

orm to gender expectations and follow
conventions of feminity or masculinity increases.
Reason (R) : Gender and

gender roles are determined biologically.
Choose the correct option,

(1) Both (A) and (R) are true and (R) is the correct e
(2) Both (A) and (R) are true but
(3) (A) is true but (R) is false,
(4) Both (A) and (R) are false.

AfaHGT (A) FeReiITarea o 4 <=y o

FHTIUT (R) : ﬁaﬂhﬁawmmﬁﬁwﬁﬂﬁw%l
el f=FeT 94 |

xplanation of (A).
(R) is not the correct explanation of (A).

(1) (A) -afmm F'm Hel B 3 (A) # (R) 7%t = s & \

2) m]m[ltahmﬁnﬁ%ﬁmm]ﬁ[mnﬁwﬁm%l

(3)  (A)TET ® Afer (R) ey &

(4)  (A) 3 (R) &M 1o # \
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5.

Sunita, a 12 year old girl, shows exceptional musical ability. Both her parents are accom

singers, and they send her for classes for voice Ir':lnﬁ'TE"c’nfter sdmn!. Her capab

to be the result of an interaction between : () e i

(1) growth and maturation (2)  nutrition and diseip s At b g
" + iy q

(3) heredity and environment (4) gendep—-ﬁ?enﬁt}' and g et .':1.-’
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A teacher asks herself - “How can I provide experiences that require students to c:lasmfy liffey
types of objects in the E@nment and analyse their classification schemes ?” Which inte

is she trying to promote i students ? il
(1) Linguistic Intelli (2) Inter-personal Intelligence |
(3) Naturalistic In (4) Bodily- Kinesthetics Intelligence ‘

o fof g A e @mﬁmmm@WMﬁWﬁﬁm__j__'

(1) wEEEfemm - '(2) st Figma
(3) Wi gfgmm i (4) mﬂﬁaﬂﬁaﬁﬁrm A
How does setting 1 1CH j,__" 'phc!t,a Htuﬂenf’s motlvatlon and;ﬂﬂfwa of a]:dhty ? 4§

(1) It often implies enhanced mtripmalmotiva'_'__‘ and behef in the enhty view of abﬂ:lty
(2) It often implies enhanced intrinsic :

(3) It often J.mphes nhance

(4) It afl:en 1:;'

(1) ﬂsw _
(2} ﬂrw
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Assertion (A) : Teachers should encourage debates, discussions and collaborations among
students, (Q o b '

Reason (R) : Knuwhdgé pi‘ndmn is an inar:twe process and engagementin gronp acliwtieﬁ

Choose the correct optlgm m

(1) Both (A) and m)areuuem)mthecmct explanahonof(A) e (A i
(2) Both (A) and (R) are ?5!-'%%‘ : ﬁ;ﬁmt_ the correct explanation of (A). A 1
(3) (A) is true but (R) is fnls_a

(4)  Both (A) and (R) are false.
wfveRe (A) : 1F

HAOT (R) :

- W em r&rxiﬁ-;-

wet forsed |
(1) (A) 3R (R) S W&l & MR
(2)  (A) 2 (R) 21 wE ¥ Sl |
(3) (A) el & Wi (R) T €1
(A) i (R) 31 T EL
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Assertion (A) : Schools should funcm'rmthm&amewarks which assess the fin
and learning {}u

Reason (R) : Leamg is tightly B@Iﬂﬂﬂ m -
Chmsethemmqpm | i ot Fredi
(1) Both (A) and {n) aretmeand( wplanation of (A).
@) Both (A)an (R re tre bt (R ot th cotectexplanation f ().
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15.

16.

SIS

Which of the following is a correctly matched pair ?
(1) Criterion - referenced assessment : includes mastery of specific topics
2) Norm - references assessment : compares performance to that of peers

L I |

(
{
(

) Formative assessment : determining what the students can do before and after the class

[r =5y

) Si.nl'nmahve assessment : involves paper - pencil tests as well as detailed accounts of non-
written behaviours

frefafEd § | HiH-m 9d gifes 79 &2

(1) wrHes-Hahia qeain . fafere fawe %1 wewa wfie @

(2) WEEF-Hafia geaie ; gt % veeE Fi ga T E

() TS e < A% it w0 fF o s d vee it A # €

(4) Wqﬁaﬂ:ﬁﬁﬁm-—ﬁﬁaqﬁm%mﬂ—mﬁ?—mﬁaﬁmﬂ%fﬁﬁﬁmwﬁa%

Which of the following hinders the participation of students with visual impairment in
classroom ?

(1) electronically formatted lecture transcriptions

(2) printed textbooks and notes

(3) raised-line drawings and maps

(4) tactile models of graphic materials
ﬁrﬁrﬁﬁaﬁﬁéwﬁmﬁiﬁﬁaﬁﬂﬁmﬁwﬂmﬁﬁmmm%?
(1 ZorERitae ®9 8 JrEftd S yfderaa

(2) HfEd TeTTEh S AEH

(3) T gE v e I EE

(1) TR EHE & SR T

Which method did Lawrence Kohlberg used to study moral development of children ?
(1) Quanttative research appmaph

(2) Posing moral dilemmas to children and analyzing responses

(3) Conducting observations of children during play

(4) Experimental method ik
et e 3 Al & A o A it 3 fer ferw fafi =1 wam e ?

(1) A T F
aﬁﬁmﬁgﬁqﬁmmaﬁﬂﬂﬁmﬂm

(2)
(3) e i A A ) g F
(4)« T fEfH
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18. Constructivist teaching leads to learning by srt_‘i.'lde:jn_tsf .

(1) discovery  (2) meaningless  (3) rote (4) receptive
me‘ﬁ sAfem evhtﬂmtl
(i dosmfn @ wifn ) @) TR

| - d i
AT T

19.  Students struggling with dyslexia can be taught to reéhpﬁ'.
(1) Th.rﬁugh systematic phonological training. Raflisg, < %
S - ."iiiiﬁ'. : B
(2} 'By prowdmg higher grade level reading texts. y N gl

R T R

(3) .Br.gl.vms_-..l@pg.ﬁaﬂ complex passages. S
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21.

22.

You are a teacher who wants to help your students develop metacognitive skills. Which of the
following strategies is most likely to foster this type of thinking ?

(1) Giving students marks instead of qualitative feedback on their performance.

(2) Encouraging students to reflect on their own learning and thinking processes.

(3) Providing students with summarised notes for assignments. '

(4) Assigning homework that requires memorization and recall. agé
m@ﬁw%ﬂmmﬁaﬁmﬁmﬁmﬁaﬂﬁﬂ%ﬁmmmﬁl ﬁnﬁfﬁaﬁﬁ
1 TR 38 e 3 e ) g 81 1 S S HE 82

(1) BE & 3T T e e e sw e el b S S
(o 1 et e oo i s e o siefen -

(4)

(1) g
(2) Autismisa neum-developmentall:'_“_._ il
@ Autsm is caused solely by environmental factors.




24.

Asserti ;
ssertion (A) : Teachers should respect the individual differences among learners and adapt

Reason (R) : Collaborations, | group works and interactions

Choose the correct option.
(1)

©

iBﬂﬁ'l (A) and (R} are true and [R) 15 thg‘

Both (A) and {R} are false.
3T (A) :

their teaching to cater to needs of all students.
AR &Y

g students should be avoided

RS el e o

while tead'lmg a class of dJ.VErEE Ieamers Pyt
i i~ n
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ertion (A) ¢ In Asian cultures which stress social harmony, expressions ot ‘anger are
discouraged and ‘shame’ is encouraged.

eason (R) :  Emotions are subjective and do nétplay any role in learning,

Q0
-

(1) Both (A) and (R) are true and (R) is the corfeéch explanation of (A).

hoose the correct option.

(2) Both (A) and (R) are true but (R) is not thelg:%ect explanation of (A).
(3)  (A) is true but (R) is false. E’JG
(4) Both (A) and (R) are false.

AT (A): T SEHTE S e S WS S € i i e A e
foren v & v = et TR S R

T (R) © AT S € i dve H S g 7w e €
i fawes =10

(1) {mﬁnmﬁﬁ‘iﬂﬁ%ﬁﬁmﬁrm@m@mm%n

(2) (Mﬁmmaﬁm’i%%mmﬁm@mﬁﬁqﬁm%u

3y (A) T & FfER (R) TEE € )
Q0
@ (A) # (R) 2 TEE ) ~
N

iy B Ly ' 1 m ?
According to Jean Piag.et,lklg.ow are children dlﬂer@mm adul
dependent on adults while adults are independent.

27.
(1) Children are S |
(2) Adults are much more knowledgeable than children.
(3) Children's thinking is qualltaﬁw’ly different from that of adults.
L l 4) Children's {hinking is quﬁnﬁtﬁﬂwl}r. different from that of adults.
< s F wﬁmﬁ%ﬁﬂm fa= %7
0y R e e AR e R B
@ ﬁﬁwﬁmm sEIER OO0
() iﬂﬁﬂamﬁﬂwﬁ%mmg :
() aﬂﬁmwﬁﬁﬂmﬁﬂﬁm&
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28.

29.

30.

_(4) Both (4) and

=m{u): Iﬂ] A

Which of the following question promotes analyhcal ﬂ:lmkmg ?
(1)  The capital city of India is o, '
(2)  How many States are there in India ? A, e
(3) What is the total population of India ? w00
(4)  What are the various causes of increase of po
foret & ﬂaﬂqmmﬁﬁmmﬁ‘mﬂhm‘mﬁ{?“_ :
2 vwEHRFRTEE
(3) G F F TS fha £7
(%) wﬁmqﬁﬁ#ﬁﬁmmwt?

= |
at the same time

. cial children’
(3) dual differences.
(4) Almtoremovea]lkmds of d ces S
FHETT Fea
® aﬂ_qﬁaﬁmmﬁg_ 3
(@) H o ar=ell’ ) wrw H R 187 iRy G e s 2
(4) T H e T 1 R

H_:{f _ s )

Assertinn (A) Teachers-sh Wes to children for experimentation and
Realon (R) : onceptions in children is to provide

() Both (A) and (R).
(2)  Both (A) and (R) a
(3) () is true but (R) :

(A):

i

“mﬁ| .||I ._
{1?) (A)ﬂht(n) s
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IMPORTANT | WEwqof
Candidates have to do questions 31 to 90 EITHER from Part - II fMGQ‘-iWﬂH and Sdmce) ﬂﬂ from
Part - HI (Social Studies / Social Science).

giteTiefar & weT 31 § o0 Irar T - 11 ( TIOTA & FT ) AT W -
fazrT ) & &7 £

PART - Il / 9T - Il
MATHEMATICS AND SCIENCE /

Direction : Answer the fuﬂomh:g questions by selecting the correc
i ; Frerfertan 7o % I @ 3 RTd WA ST ﬁmgﬁqf

31, Perimeter of a quadnlateml ABCD is 120 cm. If BC= -15 cm,
ZA=£B=90°, thenareaufquadn]ateralABCD{mmn?)m—

(1) 660 W@ 690 @ e 0 7204 ..
mﬁﬁmmwwimmh ﬂﬁ:ac—mmnpmm, AD =
tﬁragﬁam:namﬂm(mzﬂ}t i TN
(1) 660 i -;_2_;‘-: 690 « (3 720 ”*"""'

# u:i--lu.' | L .11'..] J .ll i)

32, mﬂ,:hufmefouuwmgmmanmw”

P11 |




33.

() o SRS . e
' : 110 D S e, L

PORS is a parallelogram whose diagonals PR and QS intersect at a point O su ]
’C?P=.{I+7] cm, 0Q=[:c+y} om, DR_:_?D em and OS=16 cm. Then, value of (7y+5) (in.

.{1;' 21 L 2 (@ & 5 i |

‘—'_"(Hy}c:m,DR=2umamos=16cm%,a‘u;ry+5;wn-mﬁ}qﬁ%: (8
1) 21 @2 23 _ (3) 26 (4) 28
(J1
The value of 52x3+ 4+ VET qu@—
(1)1 O LA fay g L T N
2 TSNS =l:§'z}1'. e G ::; g
52 >‘<-3-!44%':'4“-.5%1";fe_?a;@.s_.+5_.___-.531g;-;3"?;m.-_.




36.

The domain of Ieaming that d
0

alg wi ; :
With attitudes and values is known as :

(1)  Knowledge domain

(2) Cognitive domain
|:_?'l:| ."\Lff{*l.“ﬁ'\,?@ dUma'
1n
(4)  Psychomotor domain

| T o= o O . ; .
Fo NS T % wy e & aa W E Y S A R

The height and base rad; : : 3
o 'j' radius of a right circular cylinder are 9 cm and 6 cm respectively. If the base
radius becomes half and hei . r

voltrre GF e ol R ght increases by 3 cm, then which of the following describes the new
i . ne oy er 7

(1) The new volume will be twice the original volume.

(2)  The new volume will be half the original volume.

(3)  The new volume will be thrice the original volume.

(4)  The new volume will be one-third the original volume,

et e i e 2 S SR SR e w9 em 3 6 cm €1 AfE S Fe sl 2 S =
Ao S ® 3 cm W gig 51 NG, @ A § F FA-w 59 A6 T AP Hi A A © 7

(1) =1 989 5o a7 1 S @ S |
(2) 1 S A HTIAA 1 AT 2 A
(3) = S e S (O 8 S

(4) =7 A el ST B = T 81 S|

SPACE FOR ROUGH WORK / T T4 & fer wmme

-
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38. Arrange the fbﬂﬁwing statements according to ascending levels of geometrical thinking g
Vﬂi‘l-f'ﬁélﬁ*ﬂ--ﬂ'iemy of geometrical learning,

{ﬁl}' Ii_i__enﬁficatiﬂn of properties of geometrical shapes

(b) Classification of different shapes

(© Fﬁidihg rﬂnﬁﬁhﬁhlp between the properties of geometrical shapes
{d) Idﬁfmﬁcaﬁm of geometrical shapes as they are
Cﬂ'mﬂseth&cumct option :

M @), ©), @ @
G @ (@ @) @

i

L T




40.

41.

42,

98084581

» Which of the following topics have NOT been included

At upper prima
under number 5?;[‘2:; .f a8 per NCERT

(1)  Complex N‘-Uhherg ("_D
(3) Exponentg and ’Ia ) Fractions
Pow
NCERT & IR v E} Square roots and cube roots

» 31 Wiyt 4
ERE LS m“-%%m.ﬁmﬁrﬁﬁﬁﬂam—ﬁwnﬁqﬁa?ﬁ

(1¥ wfwgyg Ch
(3) Hm;ii G T
@ =i st

Which of the following statement is NOT
C
(1) Rubrics has a fixed scale.

2)  Rubri
(2)  Rubrics has a list of characteristics describing performance for each point on the scale.
(3)  Rubrics consist of a clear perfo

orrect with respect to Rubrics as a tool of assessment 7

target for students.
(4)  Rubrics make evaluation more su@ve.

FEiCAEd & % o e st % v e § w5 o o w5
(1) o 1 T e S e %

(2) ol % J A fog W W 7 a0 e e e % g A
(3) Eﬁmﬁﬁﬂﬁﬁ%ﬁqﬁm%ﬁm%

(4) Eﬁﬁwaﬁﬂﬁwwﬁﬁwm%:

The number of faces (F), edges (E) and vertices (V) of a polyhedron are 7, 15 and x, respectively.
Then, the value of (2F +3E—4x)is:

(1) 20 @ 19 (3) 18 4) 17
foet gt o e (F) it () ST (V) # demd Fwm: 7, 15 3 x 1 w4, (28 +3E 4y
FIHAE : Q0

1y’ 20 (2 19 o) 18 @) 17
SPACE FOR RDUG@ERK{WW#WW
A ol
7

"‘Iltg




AR
3. I (x+5y)%—5(2x +5y) —14 = (2x + 5y + p)(2x +5y +q), then the value of (p+q) is :

(N (2)- 14 B) 9 (4) -5

iV

At {1"1'5332—5(?-%** Sy) =14 = (2y+ 5y + p)(2x+5y+q) ¥, T (p+q) F HA & &

=y i

@ - (4) -5

T
i Ji.u'i

i. T

al and the two interior angles so formed on the

:...j.._'_~_;aiayer=:._,_: al are (2x+15°) and (3x—20%). Then, the value of (4x+6°) is :




the students :
3) itk Nt
{ ) EIPS tO dla.g'nUSe ind-ivldual d_lffel.EnCEs I_ll o
{4) It is a proc ‘
- ﬁp edure tg gather information of stidént’s performance
(1) 48 Wﬂ % |

Which of the following is NOT an indicator of creai.g_ty in Mathematics ?
(1) Students use convergent thinking in djﬂereﬁ;;}i-ttexts.

(2) Students are able to think flexibly. f‘=:

(3) Students use multiple and alternate problem solving strategies.

(4) Students can pose questions.

frafafea 4 9 wnﬁmﬁrﬂﬁqﬁﬁmﬁﬁmﬁﬂﬁ%?

(1) feremeff frfere el & SHfvrmrdl foia 1 ST FRE

' o0
@) fornef ersfeft € 7 W € =
(3 ﬁﬁﬂsﬁtﬂ%mﬂmwﬁ%ﬁmz@nm%
bl =
(4) feremedt SPACE FOR ROUGH WORK /3% % & fer, <rre

t
S

19

porr



48.

E X 15 thE IEB tlE en Ua_lu ot
stn ] it a perfect square, th 2 nf
umber which must be adde i Lo 55 to ma.ke I | o

{1} 20 2) 14 3 11 (4) 5

- =
R 955 H S S e Ut =pm wE 3, S 34 UF qu A A & € W 3x+ 2 A SUSEs
(1) 20 2) 14 @ 11 (4) 5

#9- How many natural mimbers betsween 1 and 500 are divisible by each of the numbers 3, 5 anggs
1) 3 @ 4 3) 5 (4) 6
1 3R 500 ¥ it et fopereit g e #, it s 3,5 o 7 F # wers 4 fav €7
1 3 @) 4 (3 5 é) 6
b, g
50. Ac::nrdmg to National Curriculum Framework ?_t)%hjeh of the following process is leay
important in mathematics ? 'ﬁ‘ -
(1)  Solving day to day problems. fa 0] |
(2)  Understanding when and how a mathematical ﬁmque is to be used.
(3)  Finding short-cuts in mathematics, %
(4) Generalizing a mathematical formula. o
S o e 2005 S e e ST S
(1) ﬁqgﬁmﬁmmwml s |
(2) wmﬁnﬁﬁuaﬁ\mm%waﬁﬁﬂmmwil s
(3p TR H U W Lf} b,
(4) fordra g & RO %ﬂi L5
SPACE FOR ROUGH WORK / & Rarqm i
o0
O‘)
7
N
P-IT IR 20 Vil




51.

53.

54.

M is a point on siga A
: e AB of & 1 ,
respectively x ang 70°, Iilﬂ T;“EIE ABC such that AM=BM=CM. If angles A and B are

(1) 70° @) ) UE of (3x 425 is equal to :
& Brw Ape ! e 3a (3) 100° (4) 115°
m:.rahmn%_ﬁ{hizs: 193 50 v from & fiF AM=BM=CM #1 af5 101 A s B
()7 70° “ P

@) 85 (3 100° (4) 115°

A sum invested at - !
at10% p.a. for 2years becomes 7 3,267, when the interest is compounded annually.

What will be . ;
the simple m‘ﬂ?% the same sum at the same rate in 2% years ?

10% mﬁ%ﬂﬁtﬁ%ﬂﬁ'ﬁmmgaﬁﬁ?ggﬁ?ﬁrmt w4 =T Alfde d@aifaa e &) 36
iy o w %aﬁ-ﬁﬁmmmm?

(Lr 625 @ e (3) T 675 (4) T 700

D is a point on side AB of a AXBC kuch that CD is the bisector of ZACB. If ZA=50° and Z/B=70",
then ZADC is equal to: )

(1) 30° 002y 5T (3 70° (4) 100°

et fays ABC ﬂft“‘aar AB W& D tF fig 38 v & £ CD, ®m1 ACB #1 gofgwe= #1 IR
/A=50° 3R /B=70° &, T zﬁm%:

(1) 30° @) 5 @) 70° (4) 100°

Marks obtained by EDII‘IESﬁ[dEI-'.l# of a class are 36, 37, 31, 42, 23, 38, 17, 18, 35, 25, 29 and 35.
The difference of the mean and the range of the data is :

(1) 45 (2) 5.0 (3) 5.5 (4) 6.0

o e 5 T2 el gr W #HF 36, 37, 31, 42, 23, 38, 17, 18, 35, 25, 293?#:35 _?1 |
4 e o S E |
it} 3 wreA S g AR s

?:; 45 Py () O 4) 60
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e —

] R ;ﬁ the cost price. If he'g
g;mng NS Or R 24 000, He marks each fan at 25% above the g
g 1{“& discount ﬁrﬁhe m:rked price, then his overall profit (in ) 1s ¢

(1) E?ﬂﬂ A 1'.5'{'-'2] 3000 (3) 3200 (4) 3500

w1ferm T H

""".:.uﬁ¥ naﬂ#’mﬁaﬁwwmmﬁ;wﬂh'
qﬁﬁmﬂ'ﬁfﬁ"lﬂ% aﬁqzérﬂéﬂ‘&m% mﬁfﬁ?ﬁﬁmﬂﬁ(?ﬂr e

() 2700 (2 3000 (3) (3200 (4), 3500
© mmay _‘- £ 4 _ ' i f"'ll-“& O‘-J
I3 Sy, | £ 1l

sequalto:
. ¢ ny H{gﬁ'@’ it Bl -
P S Iy o= LGRS R 2
1 U“Mh-’ ' - -1 ﬁl'_ 2 r.-l “|. L
{Et-b-!-c} _fﬂ_‘é'_"?lhqz{_ -.:c:"'.

= % IR h\l}ﬁ :ﬁf" Ay alioe T SV
E’Hé'ﬂw "H A Frlr{ .mff" .. - .wl i o ' __I.

56, (@=b+0’—(@=b-c?
| b— AT

v v ==

37,

(1) 80/
¥

‘
.ry.
SR T
LR



58. A teacher distributes different
them to measure ang taBUIat: thtYPes of friangle shaped paper cuttings to the learners and tells
the result in each case. e angles in grder to-find the sum of angles. He tells them to note
This method of & - i
: l‘eaChmg is an example of - ®
(1)  Discovery methoq ; L)
(3) Deductive et (2) Tead&é][__centerud approach
; 4) Analyfical approach
T Toeen Frenfe; ( 4 AR ik
Bl _ﬁﬁﬁfmm%ﬁmm@wﬁaﬁam%mﬁaﬁrﬁmu‘mm
< %f'“" HT9 SR WRofterg e 3 oy gy | 78 I W wrifefa  ofton e He %
1) @ fafy e 8
1) (2) firerss shigd 3UITH
e e (4) fowergomes SUTTH
59. Which of the foHowi.'ng is NOT true ?
(1) 3+4 X? is not a mathematical expression :
(2) Operations of multiplication can be done umﬂlematical expressions
(3) The expression (x2+10x +25) cannot be sm_};i;éled further
(4) The value of the variable in an equation w]-m;_]_'agsau'sfy the equation is called a solution of the
equation . 1
et A A W 8 o
(1) 3+4x5 T TR ok 78 & o0
(2)  TUF =1 WAL UM SR ek S Hh ) ) ¥
(3)) I (2 +10x+25) Fl SR fereh T Tl o T Hahell (3
(4) wmﬁﬁmﬁmﬁﬁﬁmﬂﬁw A ¥, FHIERO I B HEarw €
60. The ratio of twé numbers 18J37 and their LCM is 630. Then, sum of the LCM and HCF of these
numbers 18 : it " ey
(1) 30 (R0 7)1 E80 |3k ol
S a1 S B¢ 7 € A T LCM = 630 %n,@; = wensi % LCM S HCE %1 41m € :
qe ik, 31600 4) 660
(1) 30 ) iy i ta
SPACE FOR ROUGH WORK/I% o ey e
e O
yr T r
!’ ; /}F '—“Ih ]
} \ /ér\ L
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— ;-:'f,.-;-rmﬁf uppnjprfu fe op --.,'-"

Direction e ——— :
o AHS’I’IH ﬂg ﬁnﬂwiﬂg f]'rdt.‘.‘i”flﬂﬁ b}.- _i.;.!_"‘rfl"‘””“: the cor .
famed FATI

FQ¥:  Frerfifan st 3 3¢ 23 & for wdh /e 3097 17

61. 3
E;;;} f:lﬂ Oxides are basic in nature, ~
C T €xpands on heating. .
(€)  Lime water turns milky on passing/cafbondioxide.
(D) Sodium hydroxide and hydrochloric arid neutralise each other. _
Hnbsewaﬁunismpl?santcd by O and inference by L, which of the following stalementSisisg
(1), +O-C, D:1-A. B i my - O-B,Cl-AD
(3) O-CI-ABD (dy— O-A, Bl1-BEC
(A) 1 Sifamee Wl § st e o
(B) =g W ¥ w St &1 et
(C) e eTgaitaES wAe (2Ter ) FRCY F G g & S ¥
(D) WifeTm eretaes v arEEEEn S U Q) SEH F 2d
I FTAFA O ZH Frefia & ud 150 1emer (k) # o freifefas & 2 F0-9 599 98 3
(1) O-CD;I-AuB (2 O0-B,CI-AD

(3y O-CI-ABD (4) O-ABI-BC

néﬂemate conceptions in science ?

62. Which of the following is not a feature
(1) Ideas are stable.
0

(2) Ideas are resistant to change.
tures.

(3) Ideas are developed from observa

(4) Ideas do not demonstrate cause aniﬂect reasoning.

ﬁmﬁﬁaﬁ##mﬁmﬁﬁmﬁm@ﬁﬁﬂﬂmﬂﬂ

(1) faar ferdn #) - ‘1

(2) TEmm afEdT wfairdt 29 €)1 i
%l =

(3) fa=w sEenFiEa favmae 9 g
(4) =R, @R 3R gE g F1 velia 7@ & € i

63. Read the statements given below and choose the correct option : - Ak & £
Assertion (A) : It is recommended that acid should be added to water }érdﬂnhns uting the ;

not vice-versa,
Dilution of acid is a highly exothermic reaction.

Reason (R) : _ .
I:I} Both [A} and {R} are true and ij i Expla:nuﬁon ﬂtA}' F i AT
Both (A) and (R) are true but (R) i%:;?mct explanation of (A).

.- 1
- T

".['. o |

(2)

3 A) is true but (R) is false. .
f[*‘J;l l{iﬂﬂ"mﬂl :ﬂd (R) are false, - g 5
forerferfian ] 1 9fgQ 2 A/Et 3w F i
sfirwert (A) ;4% AT 8 o7t g 5 forw e 2 e S SR .}‘ ﬁ

. 4 T i

¥ -
v

& (R) : a7 &l Hed (TIHT) ﬁhﬁ' E‘I’#m
@ (A) site (R) 2 wEE a9 (R), (A) AUGE ST R by’
(2) (A) 3R (R) Sl WEl & 764 (R), (A) FH O Hr@m A &

(3) (A) 5él & 9% (R) T &
(4) (A) si (R) ST T

P-
LT

24



64. Read the statements

v
Assertion (A) : Th gven below and cj

Dose rrect option :
€ rate of breathin the co P

Reason (R) : Presence of large ami::l;q;aﬁc m]-qimia]s\cis SJE‘:;L[T:Q:M? ; niT;.IS' s
(1) Both (A) m?jnl(llll{';a]s. 155? "f—‘t OXyg e of breathing of aquatic
(2)  Both (A) and (R) :;z EE: ;ﬂ? gl}_is correct Efﬁ[anarim .Gf (A).

(3) (A)is true but (R) is false. (R) is not cnnst%t-gxplana tion of (A).

(4) Both (A) :’:\nd (R) are false.

FrferEd we = Kl ST S—— oL m:_

Wmﬁwﬁqsﬁqmﬁwﬂtﬂﬁ@ﬁ%l

T 5 e €% S ot ot et o 1 Y ) e 2
(¥ (4) ﬁ” (R) =FT we1 € 71 (R), (A) %t 8t =7 &

(2)  (A) S (R) =W w1 & 9 (R), (A) 1 5t =ren 75 2

(3) (A) & & W (R) Tow £

(4)  (A) ¥R (R) 2 o7 &

65. Assertion (A) : The ceilings of cinema halls and concert halls are generally curved.
Reason (R) :  Sound waves after striking a curyed.surface get reflected in all directions.
{ |} Both (A) and (R) are true and (R) is correct_._é;gp!anation for (A).
(2) Both (A) and (R) are true but (R) is not corfﬂ'éii;gxplm1aﬁon for (A).
(3)  (A) is true but (R) is false. L3 4
(4) Both (A) and (R) are false. '_g
wfuerer (A): P B S S SHIE efel 1 Gd Am: dfhd B E
T (R) : U AT AT § 20 % GYe e T feams F wefia @ s E
(¥ (A) SR (R) ST 5 E WA (R), (A) HHE AL
(2) (A) ¥R (R) SH 98 € 77 (R), (A) F1 Fe =00 T ¢
(3) (A) G&l & T (R) e €

4)  (A) 3R (R) S T €

66. Which of the following is/are true regarding scientific investigations ?
(a) Results are not influenced by procedure.
(b) Social context may influence conclusions in.any. investigation.

(c) Data and evidence are same.
(d-} There is no universal scientific method.

a) and (2) (b)and (d) ('31(4) and (c) 4) (c) and (d)
%ﬁ%ﬁa;ﬁ(%wwﬁ 3% ST/ S % AR H T §/E2
o o R g A E
(b

C

)
)
] Wﬁ)ﬁﬁﬁﬂ?fﬁfﬁ?ﬁ%'
ff; ¢ of e ( B oG O @k @ QR

- (I




67. Read the statements given below and choose the correct .;1ph'1 ns

Assertion (&){SSThe filament of an incandeaq’g[f bulb is made up ©
Reason (R):  Tungsten has low resistance(afid high melting point.
(1) Both (A) and (R) are true and (R) 18 cotffectexplanation of (A)-
(2) Both (A) and (R) are true but (R) is noticeetect explanation of (A).
(3) (A) s true and (R) is false. +
(4) Both (A) and (R) are false. "-:?_'

et wemi #i ufgy o w8 39 F 2 aﬁ_ﬁr’q :

IR (A): T arEra w1 59 () S ol &1 e gl
& (R): aﬁﬂmﬁﬂuﬁﬂﬁﬁﬁwm%l

(1) (A) 3 (R) 2Fi T@ € 7 (R), (A) 1 T A & |

@) (A) s (R) 3 T E T (R), (A) F T T 2

Gy (A) T8 & &t (R) T € o)

@) (A) 3 (R) S Tew €| @ elii

f tungsten.

Gl
‘Is (heights) in a plastic bottle. The ' i

68. Three identical holes are punched at different Icve
with water. Which of the following state  is true regarding the flow of water from
F . ! i ¥ ¥ ; o .

holes ? er

Water from lowest hole comes out mth{%teqt force ,_; .
l'.l'_l' :"F L

@) _
(b) Water from highest hole comes out uritl_-fg}_éatgs_f'-?fb_rce. TS :
(c) Water from all holes comes out with equal force b ""'"?“'f'-‘:..l'{:ﬁ"ﬁ?i"' TR TAY 3
(d) Water from lowest hole falls at ma:amumdmtance il ¥ _"‘:*" ‘

Lo PSP O b T P £ E. 9

() Water from highest hole falls at maximum Histandh
(f) Water from all holes falls at same distance iy e e l;!f_,_;_ = U
(1) (o and (f) (2) (a) and (e) w {b} arpd (e} % ,(4.} (5) " (d;

o1 et #4144 Ly () TR AR AT 1
Fore 98 & W AU Fe & wn ' g

|*| rr' .

(a) .

(b) S=7ad 92 B U St 99 & WY Ay

() Tl & @ T HAE E | A AT e el bl (0 i
HQ- 1 L'}ﬁﬁa" '{i'.:h-!*‘.".r'.', P [ e

(d) ﬁﬁﬂ@ﬁﬂﬁﬁﬂﬁq@“m Lk R Y s gk g
(6) v B & Ut aiferam gd W fiRem i

(f) Hﬁﬂﬂﬁﬁm{ﬂﬂﬁﬂ"ﬂ : ._ WO T L -
) dn  © mRe 6 O @ @K@

p
rA QL 1T ey

P-1 )
L INAnmm 26 L AR
._'"1f_g- e are] | Y



69.

70.

71,

72.

Which of the ful]n‘w'mg characterizes

(1) open, single circulation 2|
(3) closed, single circulas (2) " “epen, double circulation
gle circulation (4) ‘Elggjgd double circulation

(1) faEq, THe Ty 00 |
. : (2) oy, fera=rt

(3 W94, THS S gheat :
(4) Haa, e

A class VII teach ; /
Santenr i ET'PhIlS 10 identify alternate conceptions of students in the topic ‘Adaptations in
ammals’. Which of the following sets of strategies is best suited for this purpose ?

(1)  Drawings, checklist, interview

(2) Pc-)rtfoho,. group discussion, diagnostic questionnaire
(3)  Diagnostic questionnaire, interview drawings

(4) Project, checklist, drawings Iy

A VI 1 X i s -l e P ¢ P <9 e s
%Eii" T AT S 8 T 324 % foru fifafen TRl & e 4 § -9 g S
(1)  eeE (feoiisa), sta-geh, wemer. =

|

(3) I WA, MR, sEn (i) )
(4) S (SRESED, SiTE-gE, ArE ()

Which of the following is not caused due to excessive use of fertilizer and pesticides ?

(1) Soil erosion (2) Nitrification

(3) Eutrophication (4) Bio-magnification

e T FEAE] H S Wi 3 o At § i w @
(1) a1 STuEd (2) T?’“‘“"'

@) g B G

An odometer in a car measures : )

(1) distance travelled by the car (2) i&iﬁ;t;ﬂﬂfanﬂous speed of the car
(4) acceleration of the car

(3) average speed of the car
T e 3 SirEed A €
(1) FREAT H LAY

(3) = s = (T

(2) TR Fi wers e (T6)
(# I R ()

27
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76. Two sperms of a man fuse with two eggs of a woman. The twins formedare:
(1) identical (2) fraternal “‘5“"4'1&1! e W

(3) may be identical or fraternal (4) always cnn]omt 'H{'f’ﬁm"h"" By

L4 e t

w%ﬁmﬁ%aﬂﬂ(m)tmmwmﬁ,n iy i

(1) THEY & e f: y r% RS

i RPNV [ “.H_, e 1 vimT

6 TR ) %w . dae

i o0 o o TR Y Wil 1;.,\1 ity i A AU
77. Which of the fo]}owingstatements zsjare ru :

7 _ N 2
(@) I consers i watec R SHEE ;
(b) It reduces local flooding.

() It creates drainage problems. o TR
{d) It can be uﬂﬂifﬂr ]maaﬁon 'dl‘qs : -.'-ll._, .

(1) @) (b) {C}

(a)
(b)
(©
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79.  Which of the following illustrates ‘science as inquiry’ ?

(1) Classify the given plants into herbs, shrubs and trees

(2)  Explore factors which affect the rate of germination in gram seeds

g3 il
(3)  List five uses of coconut tree A il
(4)  Observe the types of venation in various leaves “

ﬁnﬁaﬁaaﬁ%ﬁw*ah_maﬁm@mﬁﬁam%? i
€ ﬁ?"ﬁm&i(ﬁtﬁ)mﬁrﬁﬁ.w@ﬁQﬁﬁﬁmm

(2) ﬁ*ﬁﬁa@mﬁmﬁwﬁaﬁaﬁmﬁmaﬁwm
() T F ¥ (38) 3 it v i

&) oot ol  foraaramr 35 ey o F

80. A gender responsive pedagogy in science entails.

(@) Use of gender sensitiye language
(b) Engaging students in ex
(‘3)_ Making pender based
(d)  Using differentiateq ;
(1)

amining stereofjrpes
groups



82. Following table depicts colour changes in acids and bases when various indicators are added :
Indicator Colour change in acids | Colour change in bases | rast
Turmeric No change . : At i 8l L il
Chi:nam DarkPl'!ﬂ-k lw B .09 l’l‘..l:u-‘-'i "I: "y ) .
Phenolphthalein C I'.f) Pm}‘ 103 fl".‘l't'\._li u:u_ | .n 53 th _
Methylorange D ‘q- liPlIIIk "rf' ‘ 1I _ﬂﬁ‘ Y id{,; ',L] |
| ! JEY \
A, B, C, D respectively are : | :G e 30 e R ) i e '1]3-‘[.‘* F: -r} \1
(1) reddish brown, green, colourless, o1 o i g ) G A% war. . \
(2) yellow, green, orange, colourless == "‘m‘”"t* Iﬁﬁ“‘* " ﬂ“’ﬁ' {ﬂ. |
(3) reddish brown, pink, orange, “"10"@ --- --- AU ey | .v'-.H J.ﬂ.ﬂ“ﬁa e F#:‘TF ) 4k :

(4) yellow, orange, pink, colourless i ARG
ﬁﬁﬁf@ﬂﬂﬂﬁﬁﬁqtﬁﬁ#ﬁmmm#ﬂ mﬁaﬁﬁw.:_ A f




g4. Which of the following factors are responsible for ,genei-atiop and flow of winds on the_' '
(a) Uneven heating of the earth
(b) Uneven heating of the oceans @)
() Distance between earth and sufi_J_)
(@) Gravitational force on the earthioe?
(1) only@  (2) (a)and (-
ﬁnﬁmﬁﬁaﬁa%mqﬁmﬁﬁhw T
(2) e = s




87.

bB.

=
{ .

An object floats with — f-h part of its volume outside the liquid whmwtmhquidﬁund-ﬂ'l part
of1tsvnlunmaut51deﬁ|ehqmdwhenputhhi_@li Wluchofthefoﬂmmgshmmism?

(1) Density of liquid A is greater than densi)0fliquid B. A el sy N
- iR EERN Gl pagy, o %
(2) Both liquids have same density. LS A (R

(i Al H: J‘J fet IS
' i Wﬁ‘ il wm T

(3) Denmtyathmdﬁmgreaterﬂxandenm :
)

il .".".,f"' :r'. h ._'-. 4
wmsﬁmm%wmm#wmwt—(?ﬂ?ﬁ'_@ﬁhﬁﬂ?_;! -
[ I T B w2 e

(2) ©Hi 24l = A T g

(3) TABH UG, 59 A F TG Y a#ﬁm%

sunita drog
Which of tl
(1)  Potassiun
(2)




89.  The purpose of divergent questions in science classroom can be
([]z;)} to promota mhcal thinking - e

(©) o develop comn

(d)

90.

R © S
i LS | --
- ¥
- ]
[}




o
: | IMPORTANT | Wewrqvf :
lL"rmdr'rhz:‘cr.-' have to do questions 31 tg 9( EITHER from Part - 1I (Mathematics and Science) OR [from
part = HI (Social Studies / Social Science),
Immax 7y 31 F 90 ar @ unr - ( TfoTe & fogm ) T AT - 111 ( 5T saaT ) arafe
MW ?”
PART - 111 / 9131 - 11
SOCIAL STUDIES / SOCIAL SCIENCE - WaIfST® a4 / [rfors fsm

. asan - Ansiver the: follotwir i : ' !
Direction Ans fi 1e questions lgyrsezfectmg the correct/most appropriate options.

w;m%aﬁ%mﬁ%ﬁﬂim#mﬁmﬁ:

.
o o i K y .—FLJ i
31 The L;overn:r'l:-ﬂll? has pr;\ssad laws _{}_latﬁ made it mandatory for organisations with more than 1
___ women employees to PTOVide creche facilities.
(1) 25 (2) 30 (3 10 (4) 15
w#mwmﬁaﬁm%ﬁmmﬁﬁﬁﬁfﬁm(ﬁmﬁﬁmMﬁm%?ﬁmwﬁaﬁﬁ i
fiEen__ Waumd ™
N
(1) 25 (2) 30 (3) 10 (4) 15
|
|

32. The Indian National Congress in the early years raised a number of economic issues against the
British. Choose the correct option.
|

(i The Congress declared that ﬂ'lg'BEtish rule had led to poverty and famines. |
L) |

(i) It demanded reduction of reve‘fuel.and cut in military expenditure.
e ‘

(iii) Congress demanded more fundstfor irrigation. |
(iv) It raised the voice against EntE'Pﬁ’l_th_lment tax.
(1) Only (i), (ii) and (iii) are correct” (2)  Only (ii), (ii) and (iv) are correct
(3) Only (i) and (ii) are correct L J{4) Only (ii) and (i) are correct
iy el 1 YR WA i | S o (G sga GRS 7R S8 W S e Hi
() iE  e o1 f SR H fafes WA & A5 H & e i st ve @
(ii) wﬁﬁﬁ,ﬁmﬁmfwa@@mﬂ?ﬁaﬁﬁﬁﬁﬁﬁm|
(i) FFA = %mﬁww@vﬁl
J (iv) 93 TS % faer A, e |
! (1) e (i), (i) T (i) FE € ﬂz)- HAA (i), (iii) T (iv) TR E
() A () (i) W T O (1) T (i) W8 1

-I , 35 »
ST T




33.

34.

-+ the appropriate option =
ine columns and choose the approg 3
Match the following ¢ :
Feature

: : Zartl i
Sphere of the Earth .nd Animal Kingdom

3 od ) i Plant & :
(o) SRLithosplets L Made up of rocks and minerals

E}} :‘::;:::2;:;: E:] Various Hi'!l.ll‘l:EE': of water
(d) Biosphere (iv) Thin layer of Air -
(1) (a)-(ii), (B)-(v), ()-0), (d)-(iD) ¢ Ry
@)  (@)-Gv), )-(), (©-G) (-0 e
(3)  (a)-(), (b)-(i), (c)-{iii), (d)-(V) P
@) (@), ®-G), ), (@0 28,
Erefefaa § | we sitedr @1 o B : EF
(a) TEHESA () TEY uE SftE-Sig p—
(b) SEHED (i) w2 ud @S 9w gl
(c) dgHEd (iii)  STer o fafy= i

(d) ﬁaﬁa—ﬂ (iv) STg il gael 9

@ (a)-(iii), (b)-(iv), (c)-(1), (d)-(ax)

2 (a)-(iv), (b)- i), (d)-(iii) LI’_‘}
B) (2)-(i), (b i), (d)-(iv) | S
@) (a)-(i1), (1 (d)-(1)

Which of th bout Ashoka’s dhamma 2

(@ It did no! hip of a god. =3
(b))t did not erformance of a sacrifice.

(¢) The ideas of dhamma were inspiredbythe t&‘zu‘hiﬂﬂﬁ af Buddha.

(d) “Ashoka appointed Buddhist monks to teach people about dhamma.
Choose the correct option :

(1) Only (b) and (c) (2)  Only (a), (b) and (c)
(3)  All (a), (b), (c) and (d) (4) Only (a) and (b)
FreAfefas & & 21 1 o s % a7 fawa § wg 2ol )

Il e T UM {“‘:
|
(b) =HA R @ Fimie # sravaea 7 o | [+

(c) =97 faum 92 % 39wl & 34| o | N
(d) il mﬁm%ﬁ%mmﬁw%ﬁzﬁﬁﬁlﬁﬁgﬁaﬁt
el fae9 &1 5997 51

(1) ae (b) 79 (c) (2) Fad (), fE}"H'“T (©)

(3) () (b). () 7# (d) wit (4) Had (a) a4 (b)

P11 A 36



35.  Below are two statements (A) ang (B) in the context of leather workers in 19' century,

(A) During the First World War there was a huge demand for shoes for the armies.

(B)  The poor people from ordinary castes saw this 45 an opportunity and were ready to supply
shoes for the army, '

Choose the correct Option : "
(O

(1) (A) is true but (B) is false GO (2 (A)is false but (B) is true
(3) Both (A) and (B) are trye {::___.,) (4) Both (A) and (B) are false

A= & H97 (A) 317 (B) 1957 mzq‘}rﬁ > 1 H1H HTH 16l & Had § F

(), T ¥ 3 % 21 5 g s o e o

(B) Wwﬁrﬁ%vﬁaﬁ\fﬁsﬁ“ﬂ%mm‘ta@mﬂm%gaﬁwﬁ%fmﬂwﬁwl
Tl f9es =1 w7 72 | 72

(D (A) 5 ¢ A (B) o (2) (A) e R @fr (B) w3

G) (A) ¥R (B) =i wet # (4)  (A) &R (B) 3 Terg ¥

36. The Mughal revenue system witfzﬁ_t{_gx Own schedule of revenue rateg for individual CTop was

® o)
(1) Zat (2) Iqgta 5 (3) Jagir (4) Zabt
meﬁaﬂaw%‘%ﬁmmﬁmwmwaﬁm?
(1) s @ = (3) i 4) =

37.  The rocks that were formed 300 mﬂf]é'n years after the earth was formed, is :
(1) located in Eastern Europe
(2) located in the Himalayan region
(3) considered as youngest rocks in the world

(4) located in Western Australia

g@#ﬁﬁéﬂﬁ,@gaﬁ%ﬁﬁ{%ﬂﬁgaﬁﬂmﬁ%:
(1) el o  feera % ()
(2) forem 4 4 oo & 5
(3) ﬁﬁﬂﬁ?ﬁ?ﬁﬂﬁé‘mﬁmﬁ%ﬂ
@) et o e

e Ll [T T T 37 K



pts in Column = I with their examples in Column = II and choose the

Match the following CONCEf 5

38.
apprc_‘l}'irj'dtﬂ option : Column - 11
Column = I E les
Concepts _.\Icamp i-h
(a) Disc riminatiorn (i) Differential pay for same work
(b) Inequality (i~ Villagers are superstitious
(L.'} Erjlcreui'vg;u (iii) ~“Woman not allowed to be hired since she i starting a family
) Prajmfi-w (iv).Girls are good at cooking
(1) (A] (iv), (b)-(iii), (¢)-(i), (d)-(iD)
(2) (a)-(iii), (b)-(1), () )-(iv), (d)-(11)
(3) {.J.} -(iii), {l} (1), (c)-(ii), (d)-(iv)
@) (a)-(iv), (b)-(i), (c)-(1), (d)-(iid)
e - [ 1 s ST #1 W - 11 H U T o7 sewwi 3 gafea i 2t 394 fashe
g
WY - WY - 11
HehoaaTa EAEL
(a) VEHd q) um F1d % fou sem
(b)  SHHT (i) e sufavard €
(c) fganaam (iii) HfgeT =1 USTIR &1 Hfa 7& & Hifs 98 IRER IE FL W@l ¢/F8
el &
(d) TEHRET (ia—‘) TelRal W1 S/ HTSH YA § 27581 &
(1) {L: -(iv), (b)-(iii), (c)-(i), (d)-(ii)
(2) (a)-(ii), {(b)-(i), (c)- [n} (d)-(ii)
(3)  (a)-{iid), (b)-G), (0)-(ii), (d)-Giv)
(4) a} (iv), (b){i), (c)-(1), (d)-(iii)
39.  Which of the following is/are correctly matched ?
Crop Required Climatic Condition
(a)’ Coffee - Cool and dry climate
(b) Tea - Warm climate and high rainfall
Choose the correct option :
) Bo 0 and @) Neither (&) nor ()
( nly (a) (4) Only (b)
= 4 | %1 51/ FH-8 9 98 gafaae/E?
FOA Ay Aerararaa gui
(a) I - 39 ¥R Y= goeg
(b) =3 - T SeEr RS Al
/i faweq #1599 Fifsu
(1) (a) @41 (b) 2 (2) 7 (a) STAE (D)
(3) =9 (a) (4) Re (b)
P-I1 I m 38 K



40,

41.

T A oA TR OOTV | OTS % PeCh i :
The category “erstwhile princely states’
oA W

s ;._]S - = s Sy
(1) in the ]."“it-l'“!ﬁh when e 'l]"‘iﬂll ble :

Were no longer retained as s |
LF}} . mger retained as administrative units,
5 Category existed in Indj
| \ st ndia,
3y at the time '
() at the e of Independence around 1947-48 onl
| o i =40 Oy
(4) between 1947-48 and 1956 wh f
5 e

n they were recopnised as administrati -
£ - e ] copnised as administrative units
spel FATER AT S o ;

(1) wsaaaﬂﬁ"ﬁmaf%maﬁawgﬁfa;mﬁqﬁm-ﬁ'rmfr*m
: R [ R £ A

(2)  Torsll TR Y R R i g i fepera e A

(3) A F WA FEA 1947-48 F 375 v

(4) 1947-48 AR 1956 % A & 3% yummles shedl % wH He e |

Match the following in the context of people and objects in ancient times and

- choose the appropriate
ophon.

A

B
(a) Barygaza (i)  Stamped red-glazed poftery
(b) Shrenis (i) Bharuch
(c) Arretine ware (iii) Independent farmers
(d) Grihapatis (iv) Associations of crafts(pérsons and merchants

Q) (a)-(v), (b)-(iid), (c)-(3), (d)-(ii)

2)  (2)-(), (b)-(), ©-(v) (d)-(i)

@) (a)-(i), (B)-v), (c)-(1), (d)-(ii)

@) (a)-(), (B)-(v) (c)-(ii), (c)-()

1A 7 =t 3 ﬁm%mﬁﬁmﬁf@ﬁmﬁaﬁmmmwﬂ
B

A

(a) AfaTs ) R e SR Gog
(b) T (i) R

(- TIEEA 9 (i) a3 I

o foreaRrl Al 531 Fe e e

(@ @
Ay (a)-(iv), () - {d}-ftl-l:j
@) (a)-G) 00 (0)-(v): M]'“.'_‘.’
3y (a)-(i), (B)X0Y) (c)-(); {d)-{m'}}
(4) (a)-(id)s (b)-(iv): (c)-(i1); (d)-(i
39 K

pr U



one of the following choices

- e hich
] ~inphering history. Whic
{ay an important role in de ciphering
gists play ¢ :
2 Archaeologists P* . : t work 7
- is incorrect aboul their nature oOf

[ ani :.ds and fish
(1) Look for bones ol animals, birds &

(2) Exa mine the written records
of buildings, paintings and sculpture

=

Study the remains

(7%
e

A 5 tc.
(4) Explore and excavate tools, weapons, pots, pan, €

=19 fmﬁ;mﬁﬁmww yfih1 T 2| freafafaa d § 396

79 1 W & AR | FA e T w7

(1) e, fe, TefeE w gfgal g
(2) fefas ared (SE) Fi S
(3) e, foel (9T @ i % el @1 A

(4) A, wfaan, &, 19, stz =1 Wit 3 foe sE-iH 3R e

43. The opening time of Central Government Offices.in India is 9:00 a.m. IST, w}}at will be the IOCEI!
time of opening of the Central Government Qffices located at 80° East Longitude near Chennai

el

and 92°45' East Longitude near Itanagar, respectively :

(1) 08:50 am. and 09:41 a.m. respectively
(2) 0941 a.m. and 08:50 a.m. respectively
(3) 09:10 a.m. and 08:19 a.m. respectively

(4) 08:19 am. and 09:10 a.m. respectively

T H e O AT & e T g 2 9:00 9 IST (M HHE wE) ¥, S s |
FHY: 80° T A 941 TR F I 92045 gA 2R F TH ferd HE WA U ke
AT T FHE: 4w 2

(1) =99 a2 & 08:50 95 q4] % % 09:41 F1

(2) A9 AT & 09:41 T 991 FaE F 08:50 A

(3) FHN: HAT F 09:10 7 741 YAz 3 08:19 99

B FAE F 08:19 3 791 Haw ¥ 09:10 TN

P-TL (IR e 40 K



44. Women were taught at home in nineteenth century colonial India because :
(a) they could study as well as do domestic duties.

(b) people believed that going out in public places would corrupt them.

(¢) people wanted to hide the fact of their education from relatives and friends.
Choose the correct option :

(1) (b)and () (2) (@) (b)and (9) _(3) (a)and (b) (4)
Sl Tt & Siaafies yra ¥ wef o) o @ ger S 91 il
(a) @ YRR % WH-H = FH o = GF

(b) T HAG o o5 ekt T S | 9 fars S

(c) TN ST9A WAl T A3 9§ 3! e & e g 9w 4

el fSehed i T3 & |

(1) (b) SR() @) (a) (b) FOE) (o) B (b) @) (a) 3 (0

(a) and (c)

45. Which one of the following is not correct for grama-bhojaka ?

(1) The king often used him to collect taxes from the village.
(2) He did not function as a Judge and policeman.

(3) Usually, men from the same family held the position for generations.
(4) He had slaves and hired workers to cultivate the land.

frefatEs § | S5 T aE-sE 5 o wd wE § 2

(1) ﬁammwﬁmwwmﬁﬁﬁh%ﬂﬂl

@) & marnsw S g Fwm T R o

(3) ST T F WER F T 36 Ve W HEiedl 7 o wd 41
(4) = STHIA T S S ST HGT et

46. Below are two statements (A) and (B) in the:context of Shri Narayan Guru.
(A) He advocated equality of all within a single sect or caste.
(B) He inspired all of them to have faith in all gurus.
Choose the correct option :
(1)  (A) is true but (B) is false (2)  (A) is false but (B) is true
(3) Both (A) and (B) are true (4) Both (A) and (B) are false
43 2 o (A) 3R (B) i Em E F HeH HEI
(A) Wn@maﬁwﬁﬁrﬁ%r
(B) ﬁﬁwwﬁmwmﬁﬁ?ﬂmﬁ%ﬁaﬁﬁﬂM1

wdl faswed #1997 S|
(1) (A) T & AfeA (B) T (2)" W(A) T € S (B) TR ®
(3) (A) 3R (B) A1 §E ¥ (4)AANA) SR (B) 21 e &

I

Pt (NN = K



47.

48.

Fhi _,Jmpmpriah* *U["H"-”‘ :

Match the following pau
Origin/formation

Rocks
e under great heat and pressure

(a) Igneous Rocks
(b) Sedimentary R Viagma

(¢) Metamorphi n by wind and water
Choose the correct ¢

(1) (a)-(iii), (b)-(i), (c)-(ii

(2) (@)-(1), (b)-(iii), (c)-(ii)

(3)  (a)-(3), (b)-(id), (c)-(iii)

(4)  (a)-(ii), (b)-(iii), (c)-(i)
Wﬁ%ﬂﬁmﬁmEﬁmﬁmmmm :

Vet Safvy/fmtor

(a) 3TE Y () 35 A9 U SR et 2 o
(b) FFTE ¥ (i) sfaa drp
() =mEiahE 9= (i) B9 AR ST afee ¢ :
* IS *h B U 39919 | 29y ClE
Gl ﬂ}?‘fﬁﬂ:{ﬂqﬁ?ﬁ?,ﬁmﬁﬁ?{

T fawey =1 5o 7%

(1) (a)-(iii), (b)-(i), (c)-(ii)
(2) (@)-(0), (b)-i), (c)(ii)
(3)  (a)-(i), (b)-(ix), (€)-(ii)
() @-(i), (i), (c)-)

Which layer of the ;
uch layer of thy atmosphere has very thin layér.of air ?
(1) Stratosphere (2 / L |
| <) Mesosphere (3)<* Thermosphere (4) Exosphere
qTHES Fi forg T 1 Rl (o r . Bt # 2
1 ] 1

(1) W HA9 925 (2) R e 4) afgdee
( G

(3) a® grgHEe
sl U LT 42




49. A population pyramid with |

1 base and skinny top shows :
(a) High birth rates

I:.hlil Ehﬂh dL“ﬂ.“l rates in hli}’;h[']' 1'1:|','I‘ :"ur'-"“i"
(€) Relatively large number of young population
(d) Large number of deaths of infants

Choose the correct option :

(1) Only (b), (c) and () @) Onlpf) (©and @
|

(3) Only (a) and (b) (4) Onlyyfa), (b) and (c)

(a) 3= SH

(b) TS AF T H 559 Gog

(c) TaTHE B9 H AlMH Fa1 SHHEA
(@) e # weg =1 sifve /w5

wd fawed =1 581 H|

(1) =5 (b), () 7 (d) (2) <heick @), (c) 71 (d)
(3) had (a) 941 (b) (4) e (3), (b) T4 (c)

i 1 + H . -~ = LT _t
50. Consider the following sentences (A) and (B) aboutymotions of the Earth and choose the correc
50. ‘onside s YWINg S€ = _
option :

(A) Rotation is the movement of the earth on 1tsaxis.

| 1 -5 vl (=] 4 _l_':" -1 3 .
(B) The axis of the Earth which is an imaginary” line, makes an angle of 335 with its orbital

plane.
Choose the correct option : :
(1) Both (A) and (B) are correct (2) Both (A) and (B) are incorrect
QL £ - :
(3)  Only (A) is correct (4) Only (B) is correct
e “:Im;?ﬁér—.fﬁﬁ e 1 FrfefE HAl (A) G (B) TR fo=m =t wenn we faere
i | JE= o) 1 = R 4
(A) T 1 A e WA o7 FHgeal & |
L a s et R AT A 3317 i EEE
(B) et %1 s U et A e S At el AaE | 3317, %1 W AR

[ fameg 1 99 HL

(1) @i (A) e (B) 1 € (2) EEEIA) T (B) T
(3) A (A) TE € (4) FHFAB) TE T

PIL R e E:




21.

52.

53.

cal development in temple

. true about technologi

Which of the following stateme
1 - 5 rel .'-. Nt
construction from the twelll

arried l_'-‘}' the Shikhﬂfﬂ,

(a) The weight U.i. lh.tl I o . ncreasingly used in construction.

(b) Sandstone muxed w

(;|;unﬂ[:‘ ltilill[h.[c;};r::‘:]l(l]il-..l .' | oth (a) and (b) are incorrect

{ BREEC ) Only (b) is correct

(3) Only (a) is correct = :..J;;ﬁmfaaﬁm;ﬁzg#ﬁmmﬁ?aﬁﬁaﬁ
Frefeigs | & i 91 97 ared dai =l =il HH0H g

€7

(a) eferTaaT o1 o fordl W ered foausir i |
(b) Foreior § Spen-Tee @ et % BIE ghel & AV I dsil d FH Bl |

et faheq & =991 $1 ) | 2
(1) (a) 3 (b) S w@ & @2) (a) 3R (b) I FE TE &

(3) 9 (a) T E (4) e (b) HE &

Who among the following edited newspaper Kesari which became one of the strongest critics of
the British rule ?

(1) Mahatma Gandhi (2) Lala Lajpat Rai

(3) Jyotirao Phule (4) Balgangadhar Tilak

frefafEs 4 4 9 FHU THE FEEn, S fafey weR 1 w5 e 59 79 9 %5 g9 o9 ?
(1) =& W (2) Al S T

(3) R Tl (4) SRR fier

Which of the following statements dte correct about Amazon basin ?

(a) This region is characterized by hot and wet climate throughout the year.

(b) People practice ‘slash and burr’ agriculture,

(¢)  People mainly grow paddy.

(d) Aircrafts and helicopters are also'used for reaching various places in the basin.
Choose the correct option :

(1) (._‘J'nI}' (a), (c) and (d) (2)  Only (a), (b) and (d)

(3) Ulnl}' (a), (b) and (c) (4) Only (b), (c) and (d)
mmmaﬁﬁﬁqﬁqﬁmﬁﬁﬁmﬁmﬁmﬁ%?

(a) f{%aﬁaﬁﬂﬁ-ﬁzwmﬁﬁﬁl

(b) e M Ff F e A

(c) <M qEAa: U I #

() 0 5 5% el e e 3 o, g e Refentedl o oft e faen T €1
Té faswes 71 997 =t

(1) %3 (a), () 741 (d) (2) Fad (a), (b) 741 (d)
(3) a (a), (b) T (c) (4) HE (b), (c) 941 (d)

et LTI 4t




54.

55.

56.

inla Pl map of India i you have to locate the Deccan Plateau, it will be represented by the
colour :

(1) green (2)  yellow (3) orange (4) brown

Wi % Wi AT § 41 e gaes & ver w1 v @), 78 fRg o | i @ a2

1 = (2) dien (3) AR (4) U

Choose the measures to control soil erosion and depletion from the following.

(@) Mulching (b) Over grazing

(¢) Terrace farming (d) Inter croppihg

Choose the correct option :

(1) (@), (b), (d) only (2)  (b), (0) (d) only

(3) (a) (b), (c) only 4) (@) (), (d) only
Freiferfian § A 9e1 S9EA A v 1 fFE S % S 1 =99 it

(a) eH S (b) oif =g
(c) afe (d) o= S
& faswea =1 =97 HL|

(1) = @), b), @ @) F b))
(3) Fa (a), (b), () (4) a4 (a), (), (@)

Who coined the phrase, “Unity in Diversity” ?

(1) Subhash Chandra Bose (2) Sardar Vallabh Bhai Patel

(3) Pt. Jawaharlal Nehru (4) Mohandas Karamchand Gandhi
‘fafaum § wem’ ey fHa T ?

(1) Hum =g a9 (2) WER 9e0MuRE 9o A

(3) dfeq s AEE 4 (4) HETEH HEET Y

i T 5



: SWET
~arrect answe
: a ‘ oose the corr
‘.."\..I and (B) about Paramountcy and ch

7. Consider the statements
: i thorily was not supreme.

= Jatred
The Company claim ‘ B dpe o
¢! | as justified in annexing or threatening to i
(B) Inorder to m

any Indian |
lalse but (B) is true

(1) (A)is true
Both (A) and (B) are false

(3) Both (A) and (!
J91 HITIL S T8 o 1 =97 S |

(A) 311 (B) &9] 72 w41

(A) 9l A <@ R f sae sfusn gakea 738 91

(B) wﬁ%ﬁﬁm%mmwﬁamﬁimaﬁmmﬁmmﬁwaﬂwﬁm
AHR F91 3199 919 Tt off |

(1) (A) W& 2 &1 (B) 7o 2 (2) (A) 7w & @ (B) & 21
(3) (A) =R (B) i met £ (4)., (A) 3 (B) T 7Terd )

58. Consider the following statements about-kadakh and choose the correct option.
(@) Several rivers flow through Ladakh:
(b) Duetoh igh altitude, the climate i4 extremely cold.
(¢)  Despite being in the rain shadow of H imalayas, there is high rainfall,
(d) This area experiences freezing winds and burning hot sunlight.
(1)  Only (b), (c) and (d) are correct (2)  Only (a), (b) and (d) are correct
(3) Only (a) and (b) are correct (4)  Only (a), (b) and () are correct
m%aﬁﬁﬁ:qwm?ﬁwwwmamaﬁ l%ﬁ‘m?ﬂﬂqm%ql
(8)  TRTE § 2R g i Afegt e #
(b) ﬁwwm¢mﬁmmﬂaﬁma@ﬂ
(c) %mm%:ﬁq&mérﬂﬁﬁﬁ%aquﬂﬁmamwamﬁ%r

{-Lij I &g wr?ﬂ T T{T’{' ;FT EFTF‘-T HTE;[ M ST % r

(1) = (b), (o) T4 (d) Wt & (2)" %3 (a), (b) Fen (d) et &1
(3) 9 (a) 71 (b) B} ¥ (4) %5 (a), (b) A2 (c) Wl ¥

P-IT WO 46
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59. L‘m%‘#m t.hu-* two given statements (A) and (R) and choose the appropriate option :
(A) : 'rli"l.'[_'!hl'.: places West of Greenwich will be behind of Greenwich time.
(R) : Hw‘i;arl.h rotates from edast to west and sun rises early in eastern side.
. (1) (A) is true and (R) is false -
| (2) Both (A) and (R) are false
I{f.ﬂ Both (A) and (R) are true and (R) is the correct explanation of (A)
(4) Both (A‘j and (R) are true but (R) is not the correct explanation of (A)
fe e Al (A) W1 (R) T Faem mifo aun wé s @ FAd Fi ]
(A) : S T T % ufvew 18 3 gy it | e Tl
(R) : gﬁﬁﬂ%ﬁﬁwmﬁ%awqﬁqﬁmﬁﬁﬁm%q
(1) (A)FE 2 941 (R) e 2
(2) <l (A) T (R) e €
(3)  <Fi (A) T (R) TE ¥ 941 (R), (A) T Tl TIEHTT l
(4 zrﬁ(A)am(muﬁi%ﬁam},(maﬂuﬁquﬁ%l

L

60. Watan Jagirs were given by Akbar to which of the following chiefs?

(1) Sisodiya Rajputs (2) Indian Muslims
(3) Sikhs (4) Marathas

e 3 FretetEs | & T SRR =6 i fe a1?

(1) ot T (2) I S
(3) o= (4) HOS

61. A well-designed portfolio assessment in social sciences should be :
(a) purposeful and systematic
(b) reflect regular assignments and activities of student
(c) focus mainly on the preparation of report card
(d) accumulation of student’s work over a long period of time
Choose the correct option :

(1) (a), () and (d) (2)  (a), (b) and (d)
(3) (a), (b) and (c) (4) (b), (c) and (d)
\ ﬂmﬁmﬁaﬁﬁﬁaﬂ?mﬁmmgmmﬁ:
'I (a) ey @ e A S |
(b) oot 3 Frafe Al @ AT 1 R e |

(c) wEI: Firé TE FAM T hfad g Fed |
(d) ferenedi & Al i3 Tad i ETE A =i |

Wit fasweq 1 =997 Hi

(1) (a), (c) 341 (d) (2) (a). (b) 791 (d)

(3) (a), (b) T4 (c) (4) (b), (c) 941 (d)
P-IL (A 47
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62. Project method in Social Sciences involves

(a) Activity (b) Discussion
(€)  Experiment (d) Narration

Choose the correct option :

(1) (a) and (b) only & (2) (c) and (d) only
() (@) (b) and (¢) D @ (@) (©and(d)
st T A fdee vef HufEE

(@) sty S (b) ==

(c) wAm (d) =

W& fohed 1w )

(1) a9 (a) 941 (b) (2) F (c) 74 (d)
SR ARG 9 @@

63. Consider the following statemenits and choose the correct option.

Statement (A) : Investment in-non-farm activities in rural areas can reduce the rural urban

migration.

Statement (R) : Migration inereases during particular season when

there are no agricultural
activities in rural areas.
(1) (A) is true but (R) is false-
(2) Both (A) and (R) are false

(3) Both (A) and (R) are true and (R) is the correct explanation of (A)

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A)
Frfafen Ful o fomr F1fu oiv ol famey 9fn .
FHGA (A) : T & H - i

(1) (A) HEl 2 @fHA (R) T %1 |

(2) (A) @R (R) S Tem ¥ .

(3) (A) 3T (R) =Tl T ¥ ShE(A) %) (R) et s e ¥

@) (A)aﬂﬂmaﬁi“ﬁ%ﬁﬁ?waﬂ(mquﬁw%l

SV T i

I K



64.

Which of the following que

SHONS assess the analytical aspect of the cognitive process 7
(2)  What are nationa] cu

. octs ?
rricular objectives which can be achieved through heritage projects ?

(b) How are methods of h.istnr}.- useful in the research of (a) science; (b) art and management

studies ?

(c) In how many reg

. oo 7 mes
1onal Ianguages and local dialects ‘VividhBharati® program
are broadcasted ?

(d) Write a review on two historical serialg you have watched.

() What are Bharuds ? [n which region / State this is popular ¥
Choose the correct Option :

(1) (a), (b) and (d) only (2) (c) and (e) on!

(3) (@), (b), () and (q) only (4)  (b), (c), (d) an: y

ﬁ%@aﬁﬁ#—ﬁwwm%wna Alehd & 2

(a) é“@“m?ﬁww%ﬁw&ﬁwﬁ&ﬁqﬁﬁaﬁéﬁW@Tﬁﬁ(m)mmm
27

(b) SR it fafi (o) Foram; (o) Srem w weier semrl & i 3§ S warE £

(c) ‘ﬁiﬁﬂﬂﬂ?ﬁ*mﬁﬁ@lﬁmﬁ&ﬁawﬁ@@mﬁﬁﬁfﬁmﬁamwm?

(d) mm%@ﬂt{ﬂﬁﬁmﬁwmﬁr&ﬁwwwﬁmi

(€) wESFME? foFm dm/759 & 7z Arfyn 37

el fawey =1 999 53
(1) %39 (a), (b) 3R (d) () F (c) 3 (e)
(3) A (a), (b), (c) 3 (d) (4) I (b), (0), (d) ¥R (e)

65. Read the Assertion (A) and Reason (R) statements and choose the correct option.
Assertion (A) : Students should be encouraged to ask questions in the classroom.
Reason (R) : It will help the-introvert students to open up.

(1) (A) is true but (R) is false,
(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A)
(4) Both (A) and (R) are true but (R) is not the correct explanatic
AR (A) 21 7k (R) 1 ufew 941 78 fames # o =i
Afuawa (A) : Wﬁﬁﬁm.ﬁmﬁﬁﬁgmﬁmmmi
% (R) : 7% Stqrw e #1 "o ¥ wema wo
(1) (A) =@ & & (R) T B0
(2) (A) & (R) A1 A £ |
(3)  (A) 37 (R) 2ril 5 & 40T (A) F1 (R) Tt =20 ey 3,
(4)  (A) 2 (R) 2T wet & ST (A) =i m}aﬁmqﬁm%{

- P10 TR me 49




66. Which of the following may be 'd&‘t'lllil't-rd by learners in a project work that involves engaging
students in authentic, real-world problem-solving tasks ?
(1) Enhancement of creativity and innovation
(2) Promotion of collaboration and team work
(3) Development of critical thinking skills
(4) Improvement of content knowledge and skills
e & & T T QTR e o) e ) ST, ST g 8 e -G % B A o
1 Tl & 7
(1) TEARHE SR T6a 3 95|
(2) HedM 3R &9 T $I =gE e |
(3) HHAEARHS: |9 v =i & |
(4) fauEr I SR 9 § g

67. The ideas of Liberty, Equality and Fraternity of the Indian Constitution are borrowed from

(1) Russian Revolution (2) Magna Carta

(3) American Revolution (4)  French Revolution

AT Sfaum ¥ weE, SEEa a9 sy 6 fER T g |
(1) & it | (2) e

(3) A Wit | (4) iR A

68. Which of the following are essential elements of a _fajr trial ?
(a) The trial is held in an open court.
(b) A copy of charge sheet and all other ev;denc-_ I.hat the prosecution presents to the court ar
given to the accused.
(c) The defence lawyer is not allowed to cross-examine the prosecution witnesses.

(d) Judges decide the matter on the basis of the statements articulated by lawyers.
Choose the correct option :

(1) Clnl}r (a), (b) and (d) (2) Only (b), (c) and (d)
(3) All(a), (b), (c) and (d) (4) Only (a), (b) and (c)
' e B FR- fase FoTe AT % HEvE 96 €7

(a) wm%mqﬁmqaﬂmmw
(b) e 2R ST T BT A R T wilpgedl O Wi S S S )
(©) T T B T 1 ST e ST N e e TR e § {5 A o A @ e

(]
(d) A STETETd % WA adbiel g fau T Al 6 SR R e F €
e faFe 1 997 Hi :
(1) F99 (a), (b) 741 (d) (2) HaE(b), (c) T (d)
(3) (a), (b), (c) 791 (d) B+f (4) @9 (a), (b) T ()

prt (WININEDmE 50



69.

70.

71.

P-x1 (OO LR

Which of the following
working in group task ?

(a) Rubrics

technique is ; :
que 18 most effective to assess individual performance of a student
(b)  Multiple Choice Question

(c) Presentation
(d) Portfolio

Choose the correct option :

1 C
(1)  (¢) and (d) (2) (a) and(d) (3) (a) and (b) (4) (b)and (¢)

mﬂﬁﬁﬁq-{ﬁmﬁﬁ]w At u o
s e ma? ST 39 BNt STelfeh 27 BIe-S1e THel ° M 61 1@ 8 2R

(2) FEfE (b) @EfFdE 9

(c) HifE FEgetenor (d) TrEwifer

e faed =1 =997 Hi

(1) (c) 941 (d) (2)  (a) T4 (d) (3)  (a) 74 (b) (4) (b) ¥ (c)

Which region in India has the highest ,concentration of Adivasi communities ?
(1) East India (2) West India (3) North India (4) South India
R F g A § sufeart Tuedi i SETd ey HAHw € ?

(1) a1 9a d (2) ufEmREH (3) I A H (4) =i YRd |

Which one of the following statements accurately reflects the concept of plurality in social science
curriculum ? Choose the correct option :

(1) Exclusion of certain perspectives from social science

(2) Use of complex language in social science curricular materials

(3) Dominance of a single ideology

(4) Inclusion of multiple perspectives and diverse view points
wﬁmﬁmﬁwﬂﬁmﬁﬁﬂ#ﬂﬁﬁﬂ%ﬁﬁ@#uwmmﬁm%?uﬁ
famres &1 =97 i
(1) wmfse faam 4 F9 yftgedi =l

(2) mrfse fagm e dre e T B I
(3) UEe faERHE F FHEd

(4) mmmmﬁﬁamaﬁmﬁﬂﬁ‘ﬁm

51




73.

P-11

A) and (B) and choose the correct option :
L

nsider the statements (

perior to social sciences and are the domain of bright students

(A) The natural sciences are su

(B) The social sciences are essential to provide social, cultural and analytical skills required g,
adjust to an increasingly independent world.

(1) (A) is true but (B) is false (2) (A) is false but (B) is true

(3) Both (A) and (B) are true (4) Both (A)jand (B) are false

YA (A) 3l (B) R fam it i weé foweT 9
(A) wrRfae fome gt a9 s % &l 9% AEr faenfuar # & 2

(B) Wmmwmwmﬁmmmmw%masw
A fava 9 T dor ¥ fa e €|

(1) (A) T T fohg (B) 50 © (2) (A) o7& & 6 (B) ¥4
() (A)FR@B)FE TAE (4) (A) ¥R (B) GHI 18 €

Involving teachers is considered important in the development of social science assessment
framework to :

(a) integrate contemporary events and prevailing changes.

(b) make curriculum and evaluation only subject-centered and to limit its scope.

(¢) save time, labor and money by using teachers only.as a resource.

(d) make necessary changes according to the level of téachers by using the experiences of teachers.
Choose the correct option :

(1) (a), (b) and (c) only (2) (a) and (b)ionly

(3) Only (a) (4) (a) and (d) only

wEIfsE o= * geaisd s F i § fee S aried weegel T s e

(a) Wﬁﬁmﬁéﬂ’?‘ﬁfﬁmﬂﬁmﬂ?ﬁ?m1

(by ISl S HEAEA i Fe v w99 v g o o i 5 F
{c) e forei =i ﬁw‘ﬂ?mqwﬁm,ﬁﬂmiﬂaﬁp ?;m,
(d) Foee % orIvEl % SR F BN R F W F SR stavas wiads w0 3 faa

Her faweg &1 9979 FL)

(1) #Had (a), (b) 41 (c) (2) I (a)(3H (b)
(3)  Fa (a) (4) A9 (a) 3 (d)

(T TR 52 K
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74.

75.

Consider the following statement

Science an Assertio and Re : .
d choose the correct Bobion on (A) and Reason (R} in relation to the nature of Social

Assertion (A) : T
: 1he social scie
scienges have devel 1 that i
facts i =nges have developed their own distinct methods Ao ;
Reason {R} : U likm & Dblot'l‘h""‘-' and syslematic way. E dealing with
e ' nlike the n 2. AT :
atural Sciences, in Social Science itis difficult to insulate the observation

and analysis of f
(1)  Only (A) is true [ait? from the pressures of popular sentiment.

(2)  Only (R) is true i
t:‘ ::!1 {{ii :nj (R) are true ﬂi‘lé—il{} is the correct explanation of (A)
S o ﬁng;l;‘; c'_::‘:‘ true but'(R) is not the correct explanation of (A)
SILURED Hel#] W SEAfarEd o 3
bl 1 | maﬁﬁﬁm[maﬂﬂ%m}ﬂﬁﬂﬁmamuﬁ
ATURIT (A) : Wmﬁﬁaﬁﬁw@mm (wR) & Fa &g AT 1 fafre
Tafml fosfaga =1 €1
@6 (R) : Wﬁmﬁﬁfw(m),mﬁmﬂmﬁﬂmaﬁ%mﬁaﬁ#
‘ S T Ty 1 e e Hiod ¢ |
(1) A (A) T 3 o0
@) ¥ (R)F@ 2 =
@) (A) SR (R) S TE T A0 (R)[A) F T AT I
@) (A) ST R) T A E TR (R)(A) 1 FE =TS hiid

Which of the following may be u_sel}:'ii' to denote democracy ?
(a) People are equal and free = |

(b) People are wealthy and prosperous

(c) People resolve conflicts in a better way than others
(d) Government :c more accountable and rational

Choose the correct option :

1)  (b), (c) and (d) @ band@

(3) (a)and (b) O @ @ Oxd©
ﬁﬁﬁfﬂaﬁmﬁ%‘iﬁmﬁrﬁﬂﬁﬁﬁﬁ;ﬂﬂwﬂmmm%?
(a) @nmﬁﬁtmﬁ%u

(b) o SR AN Rl _
(c) @ﬂﬂﬂﬁﬁq&ﬁﬁwﬁﬂﬁtaﬂ%ﬁwﬁﬁ
(d) Wmmﬁ%ﬁ‘ﬁﬂaﬂfﬂ%i

it fageq & =241 FL
(1)  (b), (c) T4 (d) (2) (b)dA(d)
(3) (a)d4i(b) (4) (), (b) ()

53
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I . 13 1 3 » appropriate optios
76.  Match the following and choose the appropriate oj 78

(a)

(b)
(€)
(d)
(1)
(2)
(3)
(4)

Indicators of assessment Skills/Abilities

Discussion (i) Sensitivity towards differently abled, showing concern for
environment

Observation (i) Making logical*eonnections

Normative concerns (iii) Reporting, narrating, picture-reading and d rawing

Explanation (iv) Listening, expre'sﬂng opinions and finding out from others

(a)-(i), (b)-(i), (<)-(id), (d)-()
(a)~(ii), (b)-(iii), (c)-(iv), (d)-(i)
(a)-(iv), (b)-(iii), (¢)-(), (d)-(i)
(a)-(iv), (b)~(ii), (c)-(i), (d)-(iii)

qﬁﬁqﬁfﬁﬁfmﬁmaﬁammﬁwﬁ:

(a)
(b)
(c)
(d)
(1)
(2)
(3)
(4)

- : s %

== (i) T e o i Saameitern, watawo % wfy o wefm =)

A (i) TIfhe WY a=E

ERiLEsrCac (i) IR, aviE, BE-usT @ srEn

TR (iv) FTH, T S 31 37 S 971 S

(@)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

(@)-(11), (b)-(iii), (c)-(iv), (d)-(i) 79.

(a)-(iv), (b)-(ii), (c)-(i), (d)-(ii)
(a)-(iv), (b)-(i), (€)-(i), (d)-(ii)

77. Lata sells tea at 5.00 am. She then goes to fetch water from a far away well. Af ter reaching home
she cooks food, washes clothes, cleans the house, sweeps and then goes off to purchase items for
her tea shop. All this can be referred to as:

(1)

Housework (2) Paid work (3) Care giving (4)  Double burden

o AT 5 5] 9 A= £ fmamazagrﬂatq:tfﬁuﬁ:aﬁﬁn#r%|mrlﬁ—r,rlaﬂ:rvmagmm

%

8, F9E Y &, W H AwE F AE-IS HA ¥ | TF I " s = w THM % fore T
TS FL A &1 T T Fl F Fe 51w % |

(1)

e FY (2) e w1 (3) FTmvE (4) EruEm

=L TR e 54 K P-11




. The Constituti (-
& also en df’.‘l’[.ﬁnmES the rﬂl'cltinnalﬂ[' among people livine i 3
ST THTE PeOple Lvingan a territory called citizen and
n for - : -
(1) relationshi amoneo
P among People ang BOYernment
{1} r--;-luf_immhi Y AaMone ; I- \
I ong neighboy I Sountries and government
(3) relatio ship < " '
thers | 1110nM H 3111“!]5 PPU'PIE a“'i.l_"_ih';pﬂrates
[-I}‘l ]'L1!L!t.ll1l'tkl1][1 ':‘n-lﬁlnﬁ_- "vi ?hb “.'c-.-'. ’
DS BADOUNIg ¢ountries
,r-—rmrﬂ. .@?@EﬁTﬁ$EﬂﬁWﬁ$Wﬂaflﬁ%ﬁﬁHm%ﬁTﬂ% T AR
it e &) e
(1) = @?W%#\amq
(2) TSI 2 SR TR e e
FiAl | (5D
(3) wri 3R SufEr & 49 g3y
(4) HSIE<E % == g4y
79. The Natonal Medical Commission’s Code of Medical Ethics states that every physician should, as
far as possible, prescribe drugs which are called :
(1) Generic medicines {2) Ancient remedies
E me {3} GE[‘[BHC med‘“‘ines E4} (..]‘[nbﬂl l"I’ﬂl‘ldb
10
1s for : . | s . -
T faferea SR 1 fefehean SR e 5 FE T R W fahowes i, e o w8, 39 &
=1 it 3 =ifee S Tl 3T
ATl 5
L P 2} WA F9E
A | (1) SHf 28 (2)
. [« Afvas Al
I (3) earE FaEdl (4)
55 K
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80. A large number of people in rural India who are landless;.although their main livelihood SOurce jg

agriculture are called as : .

(a) Marginal farmers (b) Migrant lét?aurers
(c) Agricultural labourers (d) Small farﬁ;lefs
Choose the correct option :

(1) (a), (b) and (c) only ) (), (c)and '(d) only

(3) (a) and (b) only (4) (b) and (c) only
IO WA H U FE Hem 1 S @ yfuei ¥, S st s 5 g s 56 2 Feen #
(a) I fohEr (b) ST AR S

() F TR ) B R

& ey &1 =37 FX :

(1) F9 (), (b) 3R (o) (2) F (b), (c)eq‘ﬂ (@

() ¥ () 3 o) @ ) HE

31.  Which of the following resources are relevant to discuss the theme ‘discrimination’ ?

(1) Narrative of B.R. Ambedkar’s experiences of looking for a place to stay after returning to
India.

(2) Advertisement of a woman washing clothes in a commercial.
(3) Text of Ashokan inscriptions.

(4) Universal Declaration of Human Rights.

‘W'ﬁwmwmtm%@ﬁﬁﬂ#m@ﬁﬁmﬁm%?
1) ﬁmaﬂmﬁwﬁaﬁ%wrﬁ%ﬁw{ﬁ%mﬁmm
(2) U fomom & F02 4R gu Afeen w1 v "

(3) 3w & sAfyerai #1 fafy

(4) WrFETYHRI =1 dfvas Heon

-I1 (W 56 K
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83.

ass in emall groups for

a task on diversi Which
small gro ups of students 2 R4 5,

ast exam from high to low
2) Heterogen : 4
(2) BEnous random groups baseq

(3) As

on a game
per students comfort

(4) Benchwise from frong to back

ﬁm%ﬁrfWﬂﬁ"&e‘%ﬁ@wwﬁmmﬁw%wﬁmﬁ@@ﬁ“@ﬁmm’:ﬁ%'
et o woe Frafon o - ot wed e a2

(1) Toenfeit & foaeh T H ST S ¥ e wn A

() Towm arfeos gue St e e v s o

() Tt = R

(4) I WS F FHE A1 % F0 ¥ o

Which of the following provide scope to develop critical thinking skills ?
(a) What role did the Yamuna play in the layout of the Mughal city at Shahjanabad ?

(b) What is the purpose of press conference ? How d0gs the press conference help you get
information on what the government is doing ?

(c) Differentiate markets with illustrative examples.

(d) It is necessary for the civil servants to be politically Reutral. Explain.

(e) Availability of water is a major factor affecting the _seiﬂement pattern. Discuss.

Choose the correct option : j

(1) Only (a), (b), (d) and (e) (2) Only (a), (¢).(d) and ()

(3) Only (a), (b), (c) and (d) (4) Only (b), (c), (d) and (e)

ﬁﬁfﬁf@ﬂﬁﬁﬂﬂﬂaﬂﬁhﬁ#ﬁmﬁaﬂaﬁmﬁ%ﬁmwmmmm%?

(a) TR § T et AR A H T A vifeen P 2

(b) ﬂﬂaﬁmwm%?Wﬂmtﬁ%wmwmmﬁﬁnm%@(mm}
AT GEEdl HA ¢ 7

() Forael SRl o e AR A SR FILC
Wm_m%fmqgm%%aﬁmﬁﬁmmﬂmﬁl e ead

(d)
(e) Wﬁmaﬁqﬁwﬁﬁﬂﬁﬂmﬁwwg@mm =4 B
Wt faseq 1 944 L
(1) e (a), (b), (d) () (2) A (a), () L) 3 (o)
4) ¥ (a), (b), () FE) (4) F (b), (), (d) 3 (@)
57 K
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84.

85.

86.

nstitution are written on the walls of social scieng,

and Duties of Indian €
ke children learn primarily through __

Classroom 1 his will Make

Fundamental Rights

: i agination
(1) Memorisation (2) Reasoning (8); - LBsergEgn (G Eiag]

] a;g;:ﬁ;ﬁm:ffq-;1Wmaﬁ$mﬁ8ﬂﬁmwm3iimﬁﬁfww3| qT T
qEAd: % g faEm €

(2) T (3) ST (4) =TT

(1) A= B

Which method would you use to collect information about the actual and correct status of

earthquake victims in your area ?

(1) Project method (2) Problem-solving method

(3) Inquiry method (4) Survey method
mmh%aﬁuﬁﬁgﬁmﬁﬁwﬁmanﬁmﬁﬁaﬂﬁmﬁmﬁam%mmﬁu
1 WET T 2 -

(1) A faf (2) SEE-EqEE A&
(3) e/ g faf (4) weE fafy

According to Indian Constitution this kind of reservation ismot a violation of the right to equality.

(1) To ensure jobs based on nepotism.
(2) To give jobs to close kith and kin of political leaders.
(3) To give special treatment to someone in order to ensure equal opportunity.

(4) To ensure jobs to people from States where an elected representive or Minister comes from.

T BT 3 TR 36 TEHR o STRE G % SR Seee T €
(1) WE-YiomaE & SHE W IR g ST
(2) TS % T gafeE # AR |

(3) |UA gt giifvad F  fou et & qe ey e S

SVl I Bt
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§8.

Read the Asserti
following ;

on (A) and Reason (R) stae,

ments carefully and €hoose the correct option of the

ﬁhh.‘%[ﬂ't £3) 3
¥ L,

Reason (R) : Social studies 18 a subje
(1) (A) is true but (R) is false.

(2) Both (A) and (R)
(3) Both (A) and (R) are correct and (R) explains.(A).

(4} Both (’\:I -!111.1 {[{] are correct but {R} does ll"flﬂt";lxplﬂin {A]

AFUHUT (A) i T (R) =) AU fe) 4K Frefefiaa 3 @ T e =i .
SR CE (A):  Afgs O 'I_I‘-'_-.T;-T 1t 1 TFS ¥ @p

ST (R) : I T6RE ae g & o et SO e Terl ST Hehd € |
(1) (A) 51 © fog (R) o7 2

(2) (A) 1 (R) S o750 &)

(3)  (A) SR (R) A = ¥ 2 (A) 7 (R) e w2

(4) (&) 3R (R) 2 @ € <At (A) 35 (R) earedt = e £

ct thn-n;.-_i vl ll basie values can be taught.

are falge,

Which of the following should be considered as':'éé'nder neutral atmosphere in'a school ?
(a) A group of girls are making Rangoli |

(b) A group of boys are volunteering in annual-function.

(c) A group of girls are preparing for dance c:t'h'rﬁpetil-ion.

(d) A group of boys are arranging refreshments for guests.

Choose the correct option :

(1) (a) and (c) (2) (b)and (d) (3) (a) and (b) (4) (b) and (c)
fr=fafaa 8 9 FH-o feafa e | foin' a2 s s €2

(a) crefRl % U HYE GRT TmeH A '

(b) TEHI % THE B AluEgd H Hag Ll

() ke % wg g I FEi B T F

(d) m#wmmﬂﬁ%mwﬁmm

T faseq =1 999 &1L )
(1) (a) 991 (c) (2) (b) a4l (d) (3) () T4 (b) (4) (b) @l (c)

: 9
eI ? &




90.

their class. These were then Written ,

I'he chart paper was Pasted -h

[ that it can be referred Byithe students. This can be an introductory activity for which of
v i (e o ; X

cial Science teacher ;’lﬁkt’d .;;|1“_|._.1‘t|.‘~' to make rules |f1.| ;
paper, All the students gave their consent to follow these

llowing topics 7

(2) Markets (3) Diversity (4) Marginalisation

a

Demox racy

AT fas =t [ifae @==i Al JYT Fe o U 28 amm 5 wet %, A ﬁmwaﬁﬁ“’?{
SRR o B o T e e et e A %mémﬂﬁﬁmﬁmw%.mﬁmg@
gaef ¥ A 9 A o o w mwﬁfﬁﬁzaﬁﬁmﬁﬁf‘aﬂwwm%@uﬁwﬁﬁﬂ%mﬁ
v T el & 2

(1) Y= (2) R (3) fafaumr (4) wEIfEERTT

The purpose of diagnostic evaluation is to :

(a) obtain information about learner’s characters

(b) get to know about the knowledge students already possess
(c) classify learners into categ_pr'i'és

(d) to assess the learners

Choose the correct option :

(1) (d)and (c) (2) (a) and (b)
(3)  (a), (b) and (c) (4) (), () and (d)
T T 1 g steg & -

(a) ﬁﬁﬁa‘eﬁﬁmmﬁ%?ﬁﬁ@mmm

(b) Tt % v 3 % i 3 S

(c)  Taenfefll =1 fordt 4 anifare Sy

(d) ferenfdei = sffam

Tl fasey #1529 53

(1) (d) 3 (o) (2) (a) 3 ()

(3) (@), (b) 3t () (4) (b), (©) 3R (q)

P R 60 -
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96.

97.

98.

99,

identify Parts of Speech of the underlifddwords in the sentence given below -

But social media can change our lives {dT the better.’
] } T E——

(1) verb, adverb {2) noun, adjective
(3) noun, adverb [4) verb, adjective
-
: wl
Complete the given word analogy :
"
dramatic : exciting : : hoax: 2 A
(1) example (2) excuse (3) media posts (4) deception

Arrange the following events as mentioned in para 1 in the correct sequential order.
(a) Jim watched the crash and tweeted,

(b) People started contacting Jim for ﬁ_ﬁiated news.

(c) A plane crashed into the lrluci:"m;l'_'ﬁi;*rer.

(d) The news of the crash was brc}ad}_jﬁ.;iit 15 minutes later.

1) (d) = ()~ @) =0 =

@) (©- @~ b~ @ J

@) (©— b @~ @

@ ®-0©- @@

‘Some of these facts are erroneous . The antonym for the underlined word in the given sentence

is

(1) invalid (2) surprising g~ (3) faultless (4) inaccurate

Why should we not take news on socifil miedia lightly ?
(1) They can change our lives for thebetter.

(2) News posted are hoax and confusing,

(3) The facts are erroneous.

(4) Strangers can call you to seek infopmation.

Ordinary people suddenly became jou rnalists means :

(1) they started contacting Jim to know the details

(2) they left the jobs where they were employed

(3) they started posting news-bits pictures and videos on social media

(4) they headed towards media houses to seek rmphw ment
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Read the poem give

n E‘L’]lm'

and ANSwer the

: . uestions (100-105) that follow -
Great, wide, ]-'f---‘ml.’rnl wonderfy] world ; {

With the wonderful w e round yon i_'L'l'I'IE'LI

And l}‘.ll-_‘ 1'\-'1.'!“'-_1("1_|‘:|! - I

=" UpoN your breast
Cautifully drest

The wonderfy]
And the w

World, yvou are b

air is over e,
onderfu] wind

is shaking the tree,
It walks on

and whirls the mills,

on the tops of the hills,
dow far do you po,

at-fields that nod and
With cities and gardens

And people upon

e Waler,
And talks to itself

You friendly Earth!

With the whe 1erivers that flow.

- and cliffs, andlisles,

you for thousands of miiles ?

Ah, you are o great

» and I am so small,
[ tremble to

think of you, World, at all;
And yet, when 1 said my prayers today,
A whisper inside me seemed to say,

“You are more than the Earth, though you are such a dot,

[,
You can love and think, and the Earth cannot!

100. The wind in the poem talks to :

(1) clouds (2) hills (3) itself (4)

trees

101. In this poem, the poet describes the : 9 ”
(1) beauty and vastness of Earth (2]} life in the cities e
(3) the E-;rth its present and past ({4} the plants that grow on the Earth
2] £ s L2 -

102. What does the underlined word refer to ?
‘It walks on the water, ...
(1) wind (2) Earth (:

ad

)L river (4) grass

' ~11rled’ » word o o’ means :
3 ‘with th 1-'.'{!“5.1:‘1'“1] water round you cur led , the word “curlec 3
103, In the |iI1t‘, wiln e

arche surrounded
ted (2) turbulent (3) arched 4) s
(1) mountec o

LE‘ ! I: -1 i! S OfF sp | 1 i[ . i 1.1!.'.' i] e ‘]-
) i ol PS ( e fll 1n e : .
Lr : | € : 1“-‘ H ¥ ?}urt'l L 'f- i i |: } 51 I“.l‘."., 3 1 2ratlo
( t . 2T Il’jl'tﬂ I}L S0OT -I[Ltll.]‘.’" - I el i
\ .I W‘“.]t‘. [ L TS 11 ¥

ification H] alliteration, lnutaphnr
(3) anaphora, personifica

i on Earth that make it great.

: in stanza 3) foumd on Earth that make pre:
) : iff . 5> ] - . 5
105. List the 8 differentCge) (2) cities, grass, mills

oes, whisper )

- Whlld”itidﬁ’ g “! i f-” jH|l_~.‘1’, DCEAns, ]-'il_‘-t-\p'.h
ardens, clifts
(2} rivers, ﬁllldt. 15, «
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107.

108.

109.

110.

111.

P-11

impact of tests and assessments on teachers, learners, and materials is called

1)  Classroom effect (2) Reinforcement
(3) Corpus effect (4) Washback effect

Match the language teaching methods in Columit - A with their understanding or related activitjos
in Column - B :
Column - A Column - B

(a) Communicative Language Teaching  (i)-+ Socially acceptable and contextually
appropriate language

(b) Direct method (i) | Silent reading

(¢) Grammar Translation (iif)y Written literary texts

(d) West's New Method (iv) Grammar is taught inductively
(1) (a)-(iii), (b)-(i), (c)-(i), ()-(iv)

(2)  (a)-(ii), (b)-(i), ()-(iv), (d)-(iii)

(3)  (2)-(), (b)-(iv), (c)-(ii), (d)-(ii)

(4)  (@)-(v), (b)-(ii), (c)-(iii), (d)-(1)

Which school of learning believed that language, whether verbal or non-verbal, takes place through
the process of habit formation ?

(1) Cognitivist (2) Interactionalist
(3) Functionalist (4) Behaviourist

A language teacher brings everyday objects such as newspapers, menu cards and train tickets to
teach the students of class V. What is she doing to make learning happen ?

(1)  She wants her students to learn English through real life like situations.

(2) She is creating awareness in the students.

(3) She is using authentic materials to make her teaching more realistic and useful.
(4) She is trying to help her students to learn multiple languages.

Which of the following statements is NOT true about lan
(1) Sanskrit is a Modern Indian l..anguage.

guages in India ?

(2) Hindi is the lingua franca of the Indian Sub-continent.
(3) According to the Indian Constitution, English is an Associate Official Language.
(4) According to the list of Eighth schedule 0f the Constitution of India, there are 22 languages:

Multilingualism in India intends teachers to understand :

(1) ‘alanguage’ policy should be framed in a.diverse society
(2) language, identity and culture are separate entities ‘

(3) communication happens, and social cohesion is maintained

(4) minority languages should be clubbed with dominant languages
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112.

113.

114.

115.

116,

118,

119,

1]

120,

The Hme and 1I.~|;|. 2 of the e
(1) Plot D) e e

(3)  Theme (4) Setting
Listening involves

(1) using prior know, ledge of the Subject
(2) I'J'.‘Ii.'f'l!.;l'll,‘:'ll\lﬁrl sounds angd deducing
(3) hearing the sound, dn:mding
(4) guessing the content

the meaning from it
the sounds as they are

Which of the fL:Ianing 15 NOT an important f
Gender of speakers,

Pausing the recording.

actor in planning a listening lesson 7
{2)  Number of speakers.

(4} Speed of delivery.

Which skill of language is known as receptive skills ?
I} Reading and Writing

(2} Listening and Reading
(%) Listening and Speaking

(4) Speaking and Writing

A teacher gives a task to familiarise the Je

arners with the vocabulary used in restaurants
among the following should be objective of the lasson
{

(1) To introduce the text about a holiday
(2) To develop critical thinking
(3)

destination

To acquaint the learner with the lexical items
(4) To familiarise with the grammatical items

In a language class, students form groups under the guidance of a teacher and present an

advertisement on a given topic. Learming a language in this way is called
(1) Language games (£}, Guidance and counseling

(3) Collaborative learming (4) Competition and rivalry

Linguistic function such as intonation, tone, stress, and rhythm are known as -
(1) Phonetics (2) Pragmatics \3) Poetry (4) Prosody

Ina language class, a teacher asks a group of students to act as ]jun:lmﬁl‘.'rﬁ, property :wl]r-rﬁ,.la ndi_ﬁlrc!s.
and tenants while other students are asked to watch them and enjoy their conversation. This

activity is called - A
(1) Acting class  (2) Guidance (3) Roleplay (4) Drama

Schools should follow additive bilingualism because it ;
(1)  promotes the child’s language but not e Lature
(2) hinders the development of the frst 1n11;§1F.1g.~

13)  values the culture and language of the child

: . 154 rerlich as a second langua rie
(4)  gives importance to teaching Eng] 070
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Read the passage giVv

)

121.

122,

M teeth becoming decayed due to sugary food items

PART - V
LANGUAGE - II ;- ENGLISH

have opted for ENGLISH as LAI:JrGUACEuII only.
'au' .] o

L

_,__4_———'—'—____-__-_—_— i % -
T IMPORTANT : Candidates should attempt quéstions from Part-V (Q. No. 121-150), if they] l

en below and answer the que s (121-128) that follow :

Chocoholics no longer need to feel guilty about their desire for chocolate. They are simply the
victim of the genes, scientists have found. The s ed “sweet-tooth gene” has been identified by
separate teams of researchers and helps explain why some find it harder to resist chocolate bars
and cream cakes. It also raises the possibility of designing a drug which could “switch off” the
gene and help people resist sugary foods. Children, in particular, risk their health by eating tog

many sweets and chocolates.

To identify the gene, research teams conducted almost identical experiments using mice which
have differences in their ability to taste sweet foods. One of the team members said “A sweet taste
receptor recognises the sweet content of food and initiates a cascade of events which signals to the
brain that a sweet food has been eaten.” He further added, “The same gene exists in humans, so it
means that if your parents have a sweet tooth themyou probably will as well”.

L

He said, “We have always known that some peoplé have a sweeter tooth than others. Butit has
also been proved that if you are gradually exposed toless sugar, then the body becomes accustomed
to less. They will be satisfied with a lower level of lsweetness. Doctors warn against any form of
gene therapy which seeks to deactivate the sweet.gene. “We have produced this gene through
evolution because sweet foods in nature are nof poisonous, they give us energy. We all need to
have some sugar in our diet,” claim scientists. US.researchers are using this discovery to develop
artificial sweeteners without any after-taste.  { 1]

Having a sweet tooth means :

(1) teeth being sweet to taste

(3) buying sweet food items from shops
(4) being fond of sweets and chocolates

(1) People will feel guilty after going l:hrough‘fj,"t?:h
(2) It will enhance sugar levels in the bod -
(3) Sweet foods give energy to the body:. ¢ 4
(4) Itis poisonous. £




1:? ..\L";‘()I'dl]'lj_; to LI(‘.IL'!(H'L‘ S
¢ oW

(1) poisonoys

(3) d;-‘li‘tklt'l'ntu “{'Z}fdea‘:tiv"’“’d genes

et foods are -

(4)  energy boosters

124. The phrase ’. ._ml_i_.;]_.-u A Case
(1) signals given . the brain
27" to start a SEries of oceyy
(3) toputa Stop to orde

(4)  to halt and hinde

ade of events’, means

I'rénces
I'I_‘-‘ evenls

I Sequential events

125. Read the statements given beloy -

Doctors have favoured gene therap

Yy to control sweet gene.
b) A sweet taste

I’ al LS .
CCeptor recognizes the amount of sweetness in food.

) Heredity factors have absolul:e]y no role to play in inheriting the sweet gene.

1) (b) and (c)sare incorrect, (a) is correct
(2) (a), (b).and (€) are all incorrect
3] (a) and (c) are incorrect, (b) is correct

(4) (a) and (b) are incorrect, (c) is correct

126. “Chocoholics’ are people :
~11) who are fond of chocolates
(2) who are makers of chocolates
(3) who hate chocolates

* (4) who enjoy both chocolates and alcohol

127. Identify parts of speech of the underlined words in the given sentence :

‘Doctors warn against any form of gene therapy which seeks to deactivate the sweet gene.

(I)  preposition, noun (2) conjunction, noun

(3)  preposition, adjective (4}~ adverb, adjective

128, Complete the given word analogy
accustomed : habitual : : initiate : 2 g
~1]" start off (2) hinder (3) halt (4)  complica

P. i 71
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t follow :

ing Tibetan children. Their

i = i 5 . s B10TS -r]!: ﬂli}Win? d[«)wn
2 ; 50 1INV at Dorie was not showing any Sig ; d ;

looked wonderful and so inviing that Dorj O s

oy : 20.135) tha
4 the passage given below and answer the questions (129-153)
sow and then we would speed through a village lined Wi

Way
mn

ith walk-1in courtvards |

colid, built for the harsh
f with mud bricks to the
n full bloom iivening

- all clusters of single and double storey buildings W

thills to gain maximum exposure to the 5111_'.. The

renment. Wallsare made up of stone to waist height

I cans lined the window ledges, with the bright orange O
hlack-and-white of the houses.

of trees adorned with colourful prayer flags stoc d high into the wind from the top of the

lat roofs. The auspicious blue, white, red, green and yellow colours of the fabrics S'toudi,_?lg against
rich blue of the Tibetan sky. Each prayer flag carries a picture of Lungta, the jewelle .dragﬂn
e the flag flaps I the wind.

who carries the owner’s prayers up to the divine every tim

houses looked
and finished of
f r'nm'iﬁuh%s i

nChes

horse,

larger villages have healthy trees, usually willows or poplars which look quite out of place in
£ mmodity in the highland areas of Tibet and

e harvested for use as brushwood
e mountains to get a fire started,
who have an ingenious

the generally treeless landscape. Wood 1s a precious co
is never wasted. The few shrubs which grow wild on the hillsides ar
and each courtyard wall is piled high with sticks gathered from th
The lack of solid fuel in the shape of wood is not a problem for the Tibetans,

wood substitute : yak dung.

129. The phrase ‘courtyards jostling together” implies :
(1) being one on top of the other (2) being in close proximity
(3) being very far apart (4) being in different sizes and dimensions

130. What aspect of Tibetan houses as described in the passage is incorrect ?
(1) Roofs are made of mud bricks. TR
(2) They are solidly built.
_{#  Walls are made of mortar and cement.

(4) Tin cans line the window ledges.

131. Why do the willows and poplars look absurd in the landscape ?
{3y Because the landscape is generally treeless.
(2) The other trees camouflage them.
(3) They are stunted shrubs.

(4)  They have minimum branches and leaves.

132. Complete the given word analogy :
precious : valuable : : ingenious : _?

(1) genuine (2) practical (3) theoretical 477 inventive

133. Yak dung is used by the Tibetans as a substitute for :

(1) fire 4 wood (3) buildings (4) marigolds

P-IT (IO 72
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134. Read the f{‘nll{iwinr tWwo

st
Assertion (A) : Wooq 3 Cienty |

% _ od and sHel.
N Reasoning (R) : Wond © Sticks are Piled hig} :
: ) 415 tound jin a &1 against the o
E {}} {A} and (R) ars 5, th ing Sundange across Tib Mrtyard walls i the
2) [A_) 1o O g Correct S 11bet * M Nous,
f e AN (K)UETNE reason for
e (3) (A is incorrect bul (R) is L'(Ir.l'ﬂ: ln 3
! . - ) 15 Correc
g {"i:} [A) 1S COrrect and I,]{J 1S not lhl’ [".:"ﬂ"-}nn '
- ¢ or it
e 135. [d(‘.ntif}’ the underlined wor s in ¢ 3
e The lack of solid fuel ; rds e given sentence
A ack of solid fuel in the shape f wood is not a proble
(1) noun, noun (2)  verb em for the Tibetans,
i (3)_- noun, adjective S
::; B ] (4) adjective, noun
d 136. India’s language in education policy (Three Lan

1 15 . guage Formula) attempts to prome
d. (1)  Bilingual education with the focus on Hind; ) attempts to promote -

as (2) Mother-tongue based multilingualism
(3) Multi language education

(4) Monolingual education

T . o L .
137. W 11;1::.1 1;3 a short story which has animals as the main characters and teaches an explicit moral
called ? !

(1) Science Fictiop (2}~ Travelogue (3) Fantasy (4) Fable

138. Which of the following statements are correct ?
(a) Dyslexia is a reading disorder.
8 (b) Dysgraphia is a writing disorder.
(c) Dysgraphia is a reading disorder.
(d) Dyslexia is a writing disorder.
(1) Both (a) and (b) are correct (2). Both (c) and (d) are correct
(3) Only (a) is correct (4) Only (b) and (d) are correct

139. Rita, a government school teacher, uses visual devices and language games to teach English to

class VII students. Which principle of teaching is Rita applying ?
(1) Principle of motivation and interest

(2)  Principle of correlating with life

(3) Principle of natural process |

(4) Principle of practice and habit formation

owWn processing ?

AR about top-d
140. What is NOT true about to0p dge of the world

(1) Listeners make use of the knowle :
; b S ETY WOT'C
(2) Listeners need to understand every wol

i : - wledge
(3) Listeners rely on their bac kgf“’-““'. o ad : v 550 )
( 4 I-'\ ma-ke guesses about the intended meanng
_steners et
(4) K
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assessment ?
(2) Class presentation
£y I !
(4) Faper |"t‘11t'||| test

tool is not ideal for formalive

vEsiEnment
- ianching-learning process to clarify student learni
ment done throughout the teaching-learning | ! arning g
rstandinge 1s called ——————* -
A ssessnent in 1CARIIELE (2) Assessmentas learning

{ a'n = - 3 ,‘j-n
\sspssment for learming v*) Assessment of learnung I|

143, Learners should be exposed to language, and errors are evidence that learning is taking place i

advocated |'r_‘., -

{2y” Psychoanalyst (3) Behaviourists  (4) Cognitivist

{1y Humanist

144. Creativity in language education is :
(1) classroom activity using new methods of teaching.
2] classroom material using communicative language teaching,
(3) open- onded classroom tasks which allow for different interpretations and answers.

(4) merging elements from different subjects to understand something.
145. Which is a tool that allows for a number of synchronous and asynchronous online teachin |
opportunities 7
(1~ Television (2) Padlet (3) Textbook (4) Railway ticket
146. What is NOT true about errors in language learning ?
(1) Errors are crucial aspects of the language learning process.
(2)  Errors help to understand the process of second language acquisition.
_ {3y Errors hinder the language learming process.
« (4) Errors are not always bad and help in learning.

147. In a second language class, a teacher played audio on ‘Health is wealth’. He then distributed
handouts and asked the students to tick the correct answer from the given option. The objectived
the lesson was to enable the learner :

to listen, to analyse the ideas (2) to memorise the lesson on health and wealth
(3) to hear the lesson on health (4) to engage the learners with a task

148, When is International Mother Language Day celebrated ?

(1) 218 Fubruar}f {_2,],.- ]3&1 ,‘\Pn] ('T.) 15t ]E'Il‘luﬂl'\.-' 1 {-—L} 14111 Fvbruat}'
149. Identify the type of email you would write if you were writing to a colleague who 1s your friend
s oo = 5, (% | -
(1) Business (2) Correspondence —_——————
e Informal (4) Formal
150. Uﬁing‘ fuw'j.:duj..r t.1l1ii"."t‘1'. to teach language is called
(1) Teaching aid (2) Text
{37 Realia @) L
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